FQHELA SEG Q002
BERA
ST LA Q003
AMIE B E e Q009
AE i Q010
AEDHEIT 9 ST e Q013
BT Qo014
EHEBHIE oo Qo014
HO|HIEA oo, Q016
B e N S | PP Qo017
THE RENSE
HEOQ| B vvrvrrnin Qo018
EIFE/ECh Q023
HEHb o Q024
SFO| ELOf cnvemeeeeeee Q027
IR T E] ceeereremeemeerm Q028
Ol E T, Q034
BoAlEG Q039
Bl Q041




A |

T

BEyZLIAL S

o8

1Y

dH

(OB 7+ SLEAD

SC

060 | |05

oS TUY x5

(ol LAF | gy BAIS (S5 Ald)
JIE] L 5z [ ** |'HBH [ HFC | HSC | HST:
05 | 5 M2 |04 | — | — [ 15 ] 09
10 | 10 M25 | 045 | — | — | 2 13
20 | 20 M3 | 05 | 2 2 25 | 15
30 | 30 Ma | 07 | 25 | 25 | 3 2
= M5 | 08 | 3 3 4 25
— I M6 | 1 4 4 5 3
——{ LA f— M8 | 125 | 5 5 6 4
gl M5 M0 | 15 |6 |6 |8 |5
060 | M6 :
BH SELIALH Cns
SEXNIE] H—)°
BHA Sl=E3 A 7 o=l —
Fe | = HAIH
FC SELIALH ASLIA —J°
]
sc AFHEHE )
== | I o | LI
Y LLEM) ABLA} —
713 = _
. Em | A" <
; - 2o |
"'sD | a8 s e ®
4
7|§ g g 'I_'I|'—|E (...—. I—I—) ‘ L
P Mem | EE [
— sitingd —— ¢ sP @z gm|
o] BE= =
J15| & & SR HOoof MC) bl
s —— | @ = = ]
(BB MEh Tt
W EIX| SZHH
HKY| |[15]| |IR —R| (ax I
L
=
2 Hx EERE] ESEA HX L Lax
JIZ] B JIE] B | ShE IE] SiRE |
15[1.5 06 [1.7| T6 06| 6P | |7/ rax %
20 |2 08 [2.3| T8 o7| 7P
25 2.5 10 [2.7] T10 08| 8P| | T oy A
SE| a5 303 15 |3.3| T15 15 | 15IP s| 7 F]
T T o 35 (3.5 5 20 |3.8| T20 L1
=o e 40 |4 25 (4.4 T25 [\ | &oHe
o TKY| =3™% 50 |5 27 |5.0] T27 2l x| = }==
= TIP [=3ZaA ax 60 |6 30 [5.5] T30 =
—ps|E3toI| <——
l
=2t dlx WR
J1Z] B
= e 10 | 10 @%
7 xS
el b 12 [ 12
) 16 | 16
IMX | IMXA|2|= #i%| 5 20 | 20
25 | 25

Q002




2z

o L= o =
gy 72 D TS i =0 i e o &
AJS3010T10 5 M3x0.5| 10 1.5 | 2.8 [120/T10(2.5 [ =212 t}0|E(DC030) AIXOM162) PMC(@M254)
AJS4012T15| 7 M4x0.7| 12 2.2 | 3.4 (120|T15|3.5|AIX(@©M162) PMC(®M254)
> '“l %—IT T’[ AJS5014T25 8 M5x0.8| 14 2.7 | 4.5 1120|T25/7.5
e d c
BRS103 5 M3x0.5| 9.9| 2.9 | 3.4 |120|T15/3.5
BRS105 8 M5x0.8/ 13.8| 3.8 | 4.5 |120|T25|7.5
@ SER -
e d c
CS3(C32 LIA)| 7  |M4x0.7/146| 26 | 25 | — | — |2.2|F8 22HHOE026)
@ © _j D I _Q] CS4(C4E LIAN| 9 M5x0.8/15.4| 3.4 | 3 — | — |33
- —! |CS5(C5& LIA)| 10.5 | M6x1 |22 4 4 — | —|7.0
< KX of LiAts 2=e}
£ MEMZE A,
I CAS51T 7.9 |M5x0.8| 19 5 4.5 | 10|T25/8.5
&(}Ij_iﬁ I n[
R _a ]
CS200T 3.2 |M2x0.4| 5 16 | 1.8 | 90|T6 |0.6|FE Z2HHOE025)
CS250T 3.7 |M25x045| 6 1.8 | 2.4 | 90|T8 |1.0|ZHEAI2I=(@M001)
#* C8250560T 3.9 |M25x045| 52| 2.5 | 2.4 | 60/T8 |1.0|BRP(@M196)
% CS300590T 41 |M3x0.5| 55| 21| 24 | 90|T8 |1.0
CS300790TS| 4.7 |M3x0.5| 7 2.3 | 2.8 | 90|T10/2.0
® Tl @ CS300890T 4.1 |[M3x0.5| 8 21 | 2.4 | 90/T8 |1.0[3t0I=20}tTHH(@N0O12) DCCC(@M212)
*ﬁ # CS350760T 5.5 [M3.5x0.6| 7 4 3.4 | 60/T15/3.5
CS350790T 4.8 |M3.5x0.6| 7 2.4 | 2.8 | 90(T10{2.5|V10000(®M070)
# CS350860T 55 |M35x06, 8.4 | 4 3.4 | 60(T15/3.5|MMTIZ ZHHG028) BRP(DM196)
CS350990T 4.8 |M3.5x0.6| 9 24 | 2.8 | 90/T10/2.5|0OCTACUT(®M180) DCCC(©M212)
CS400990T 6.0 |M4x0.7| 9 2.8 | 3.4 | 90|T15/3.5
CS401160T 5.7 |M4x0.7| 11 45| 3.4 | 60/T15/3.5
| CS401990T 6.0 [M4x0.7/19 3.0 | 3.9 | 90|T20|3.5|LF0IEE vto|E(DC032)
] CS451190T 6.3 [M4.5x0.75) 11 2.9 | 3.9 | 90|T20|5.0
# CS501160T 7.0 |[M5x0.8] 11 3.6 | 3.9 | 60(T20/5.0
CS501290T 7.0 [M5x0.8] 11 3.5 | 4.5 | 90|T25|7.5|OCTACUT(®M180)
# CS5015060T | 7.2 |M5x0.8| 15 2.4 | 3.9 | 60/T20|5.0 [ AHX640S(DM046)
CS502190T 8.5 |M5x0.8| 21 40| 51| 90|T27|7.5
CS6016060T| 8.5 |[M6x1.0/16 | 4.5 | 45| 60|T25/7.5
CSF401260T 7.2 |[M4x0.5/12 5.2 | 3.9 | 60(T20|5.0|PMR(@©M258)
-
DC0520T 8.5 |M5x0.8/22.5| 2.5 | 3.4 | — [T15/3.5|CE2 & =H}0| E(DC008)
DC0621T 10.5 |M6x1.0| 25 4 3.9 | — [T20/5.0|CIE E¥= EEHHOE013)
SK&T (QH001)
DKS4 5.6 |M4x0.7|18 35| 3 — | — |33
DKS5 7.6 |[M5x0.8/19 45 | 4 — | —|7.0

[

Q003



~ X5 (mm) 2= e =3 = o
gg 1_'1[7—1 & b & d - 9° MU‘E (Nm) EHS '§'E1
EGS06019 9 M6x1 |225| 3.5 | 3 — | — 133
EGS08024 1 M8x1.25/28.5| 4.5 | 4 — | = |7.0
N 720
1d]
[
FC400890T 56 |M4x0.7| 7.5| 1.3 | 2.8 |90 |T10|2.5|LF0I=& HI0|E(DC033)
F AR 0| 5S H2HHOE043)
o | a SMGH}0| E(©F118,G026)

GY05016S 8.7 |M5x0.8/16 | 3.5 | 3.9 |90 |T20|5.0|GYAI2ZI=(©F004)

GY06013M | 12 M6x%1.0/18 | 5 5.6 | — |T30|6.0|GYAIZI=(®F004)

HFF06015 | 10 M6x1 |15 | 6 5 80| — |82

HS4L 54 |M4x0.7(14 |23 |25 (80| — (3.8
HS5S 6.8 |M5x0.8/ 9 |28 |3 80| — |33
HS5L 6.8 |M5x0.8/15 | 2.8 |3 80| — |6.6
HSP05008C |M5%0.8| 8 — | — |25 | — | — |25|DE 25| =(OE042)

MPH}O| E(©C018)

- 80°

HY-A1 44 |M3x0.5 7 |21 ]2 82 | — |1.5|35t0|=20I21(@N012)
HY-V1 55 |M3x0.5| 7 | 25 |2 82| — |15
i < [HY2 55 |M3x0.5{10 | 25 | 2 82| — |15
HY3 7 M3.5x0.6{12 | 2.9 | 2 82| — |15
c HY4 9.3 |M5x0.8/16 | 3.6 | 3 82| — |33
== JSS6 6.9 M6x0.75 45|15 |08 |— | — | —
® 2 JSS7 8 M7x0.75 4.4| 1.5 | 1 =|=|=
N
c
o KS1 7 M4x0.7| 14 5 — | — | — | — |BCFHEEIA ISO?(ONOO&)
i~ FIERZ|X |
PR o e I v 8 e o o
=] p e ; M4x0-7 1’ 5- ~ | | | [ss7t=RIRI IS0 (@No10)
= c : V10000(©M070)
KS2S 10 M6x1 |18 | 7 - | == ]-
KS11 8 M5x0.8/19 | 3 3 - =133
KS12 10 M6x1 |26 | 4 4 —|—17.0
KS13 10 M6x1 |30 | 4 4 —| =170
KS14 13 M8x1.25/45 | 5 5 — | —19.0
F— LLR1 M5x0.8| — 35| — | 25| — | — | — [LLZLEEIZ] ISOH(ONO006)
s LLR2 Mex1| — |5 | — |3 [—|— —
-€_| c

Q004



= |5 (mm) 2 g o =
8y 72 D TS i =0 i e oS &
%LLCS103 [M3x0.5] 4 |11 | 46]2 | — | — |1.5|LLEIOIE(©C008)
% LLCS105 [M5x0.8)M5%x0.8/10 | 15|2 |— | — |1.5|re 22uH©E035)
LLCS106 [ M6x1| 6 [165| 35|25 | — | — |2.2|D8 22 =(®E040)
o e | | *LLCS106S| M6x1 | 6 134| 0.7|25 | — | — |2.2[HSK&T(©HO001)
LLCS108 |M8x125) 8 |21 | 65|3 | — | — |3.3|KSMG(©M252)
e d_| #LLCS108S|M8x125| 8 [165| 2 |3 | — | — |3.3|5t0I20HTRI(@©NO12)
¢ LLCS110 [M10x1.5 10 29 8 |4 — | — |7.0|LL7IE2|X| ISOH(©N006)
LLCS112 [M12x1| 119 [362| 9 |5 |—|— |80
S EMT . LLCS125 |[M5x0.8M5%x0.8/12 | 2 |2 |—|— |15
LLCS205 |[M5x0.8)M5x0.8/16 | 4 |2 |—|— |15
R d LLCS206 [ M6x1| 6 |26 [13 |25 | —|— |22
T . LLCS208 [Msx125] 8 |24 | 65/3 |—|— |33
LLCS103, LLCS105 LLCS306 | M6x1 6 21 4 |25 | —|—122
ttgg%g,ucsm LLCS308 |Msx125] 8 |42 [275/3 |—|— |33
LLCS310 [M10x1| 10 |29 | 8 |4 |—|—|70
HEAS pR20 SATL0N USHE ) csa10 [M10x1] 10 (30 | 66|4 | —|— |70
EA= 220 SATHOI JASUL | | 1cS508 | Msx1| 8 (24 | 653 |—|— 33
% LLCS508S| M8x1 | 8 [205| 3 |3 |—|—|33
LS1 M6x1 | 22 8 |8 |3 |—|—150
LS2 M8x1| 29 |13 [10 |4 |—|— |82
LS3 M8x1| 32 (13 (13 |4 | —|— |82
% LS4 M6x1 | 15 8 | 4 |3 |—|— |50]|7EAI2I=@©MO001)
% LS5 M6x1 | 18 8 |5 |3 |—|—150
% LS6 M8x1| 24 |13 | 5 |4 |—|— |82
~ _|xLs7 M8x1| 27 (13 | 8 |4 |—|— |82
3 X |#Ls8 M6x0.75/ 18 7 |7 |3 |=|=150
) o |*LS9 Mex075 22 | 8 | 8 |3 |—|—|50
T —( #*LS10 M7x0.75/ 16 6 | 6 |4 |—|— |7.8|FE404(©M266)
s e | +Ls11 M8x1 | 16 6 |6 |4 |—|—178
. A P #LS12 M8x1 | 24 7 17 |4 |—-|-178
b #*LS13 M8x1 | 34 (12 |12 |4 |—|—|78
% LS14 M7x0.75| 24 |10 |10 |4 | — | — |7.8|FP490(©M262) FP590(©M264)
# EAIE PLAOIE 27230l 9188 UEUDO | 4| 515 M7%0.75| 18 6 | s |a |—|—l|78
#LS16 M7x0.75| 23 |11 | 8 |4 |[—|— |78
% LS17 M8x1 | 42 (17 |11 |4 | —|—|78
%*LS18 M7x0.75| 14 6 |4 |4 |—|—178
#LS20 M10x1.5| 26 9 |9 |5 |—|—190
#LS21 M10x15] 32 |12 |12 |5 |[—|—= 9.0
LS24 M8x1.25 24 85| 85/4 |—|— 178
LS25 M8x1.0| 285 [12.0/105|4 |— | — |7.8|=(®) =42 g2z bjo|=(©C014)
LS10T M7x0.75| 14 6 5 |45 | — |T25/8.0|NF10000 (DM072)
o+ B . LS14T M7x0.75| 24 |10 |10 |45 | — [T25/8.0
+ =5 [ 1 1 LS15T M7x0.75 18 7 7 | 4.5 | — [T25|8.0 | AOX445(@M060) SE515(OM062) SG20(©M064)
Le ] 3 c d | X LS19T M6x0.75| 11 4 | 4 |34 |—|T15/5.0
I b o | LS10TS |M7x0.75) 13 6 | 4 |45 | — |T25/85
* LS0622T |M6x0.75| 22 8 | 8 |34 | —|T15/6.0|AHXe40W ©MO54) g
: —x LS24H M8x1.25| 24 85| 85| 4 — | —18.2 =
© T I = E =
Co I T e
e = [ d =
) 5 o
MGS6 10 M6x1 |26 | 4 |5 |—|—]90
. - |n]
| |
€| -9 c
T = 'j MHTA1 11 M8x1 [18.5| 35| 4 8.7
! I—
. E

Q005



(R

Q006

Sz LA 7H
~ X5 (mm) 2= e 23 = =
=e ™ a b c | d | e |@° |MEZ| Nm s
NS251 3.6 |M25x045 7 — | 22| 60| — | 0.7[|22 S(SMALL TOOLS)(®D001)
NS401 5.8 |M4x0.7| 6 — [ 36| 60| —| 35
NS402W 5.85 |M4x0.7/10 — | 2.2 | 60| — | 0.7| 22 E(SMALL TOOLS)(@D001)
NS403W 5.85 |M4x0.7|12 — | 22| 60| —| 0.7
NS404W 5.8 |M4x0.7/10 — 12290 — | 0.7
NS501W 8 M5x0.8| 16 — | 2.5 [120| — | 2.2| 22 E(SMALL TOOLS)(®D001)
NS502W 8 M5x0.8| 20 — |25 [120| — | 2.2
RN-S4S 5.8 |M4x0.5| 84|25 | 34 | 61|T15/ 3.5
RN-S4M 5.8 |M4x0.5(10 |22 | 34 | 61|T15 3.5
RN-S4 5.8 |M4x0.5/125(22 | 34 | 61/T15| 3.5
RN-S5 8.1 |M5x0.5/15.4 3.6 | 3.9 | 61|T20| 5.0
RN-S6 9.5 |M6x0.75/20.3 | 4.6 | 3.9 | 61|T20| 5.0
RN-S7 11 M7x0.75/24.7 | 5.2 | 4.5 | 61|T25| 7.5
RS3008T 4.3 |M3x0.35| 8.6 |2 2.4 | 61/T8 | 1.5|SRFAIZ|=(©M228) SUFA|Z|=(@M232)
RS3510T 5 M3.5x0.35 10 | 2.3 | 2.8 | 61(T10| 2.5
RS4015T 6 M4x0.5/14 | 2.7 | 3.4 | 61|T15| 3.3
RS5020T 8.1 |M5x0.5/16.4 | 3.6 | 3.9 | 61|T20| 5.0
RS6025T 9.5 |M6x0.75/21.5(4.2 | 45 | 61\T25| 7.5
RS8030T 12 M8x0.75/25 |5 5.6 | 61/T30(10.0
S1 3.5 |M2x0.4| 55|22 |15 | 92| — | 1.0|3t0I=20tnt2I(@N012)
S3 45 |M3x0.5| 77|24 |2 92| — | 15
S4 5.3 |M4x0.7| 8 181 25| 62 — | 22
S5 6.8 |[M5x0.8/ 9 |24 |3 62| — | 3.3
SD32 12 M8x1.25/28 | 7.2 |6 50| — | 9.5|DE s=2 olHHOE042)
SD40 12 M8x1.25/36 | 7.2 | 6 50 — | 9.5
SD50 16 M10x1.5/46 |82 | 8 50/ — [ 1.0
SD63 16 M10x1.5| 61 8.2 |8 50| — | 1.0
SETS51 6.8 |M5x0.8/14.8 | 1.5 | 3.4 | — |T15| 3.5|HSKZ7 (@H016)
SETS61 8 M6x1 |20 1.8 | 3.9 | — |T20| 5.0| MMTE:0| E(@G019)
MMTIE 2/HH(@G028)
SLCS105 10 M5x0.8/25 |6.3 | 4 90| — | 7.0
SLCS106 12 M6x1 |32 |6.2 | 4 90| — | 7.0|WPH}O|E(©C017)
™~ SPS1 8.5 |M5x0.8/16 4 45 | 70|T25| 5.0
& “Lﬁzt I =l
ACR
3 ‘ SRS5 6.7 |M5x0.8/16 |35 | 3.9 [ — |T20| 5.0
® -] Dﬂ
‘g’ (4
STS1 6.8 |M3x0.5| 7 2.2 | 2.8 | 90|T10| 2.5




] X2 (mm) ZE e =3 =
sy 72 . e S R - e thg &
# TS16 2.5 |[M16x0.35 3.2 (1.6 1.8 |60 |T6 | 0.6|2E HHDEO16)
TS2 27 |M2x0.4| 46|14 (1.8 [60|T6 | 0.6]|50I=20tTt2I(@N0O12) TAFEZ(OP241)
#* TS2A 2.7 |M2x0.4| 45|12 |1.8 |60 |T6 | 0.6|AQX(@M154)
TS2C 2.7 |M2x0.4| 3.8|14 (1.8 |60|T6 | 0.6
Y TS2D 3.8 |[M2x0.4| 5319 |1.8 [82|T6 | 0.6|EEHHOE006)
TS21 27 |M2x0.4| 3.4 14 (1.8 [60|T6 | 0.6|F Z2HHDE027)
* TS22 3.0 |M2.2x045| 5 1.2 |18 [60|T6 | 0.6|s8 Z2/HHOE028)
x* TS25 3.3 |M25x045| 5.5 | 1.7 [2.4 |60 |T8 | 1.0|AQX(@M154) AIX(©M162) TAF=Z(QP241)
Y TS25D 4.4 |M25x045| 6.2 (2.2 |2.4 |82 |T8 | 1.0| 2EHHOEO006)
#* TS25H 3.6 |M2.5x045| 5.5 |2 24 (60 (T8 | 1.0| SRM2(®M236)
TS202 2.7 |M2x0.4) 5518 |1.8 [60|T6 | 0.6
TS253 3.3 |M25x045| 4.5|1.7 [2.4 [60|T8 | 1.0|HEAIZI=(@MO001)
TS254 3.3 |M25x045| 7 1.7 |24 [60|T8 | 1.0|2AE £ (SMALL TOOLS)(@D001) PMF(©M256)
* TS255 3.5 |M25x045 7.5|1.6 (2.4 [60|T8 | 1.0| =Z=m+ HIO0|E(DC030)
i TS3 3.9 |M3x0.5| 6 2 2.4 |60 (T8 | 1.0|TSMP(©M248) CBJP(©M250) TAF=Z(QP241)
o © _ e TS3D 5.0 |M3x0.5| 6 2.3 2.8 |82 |T10]| 2.5|HEHHDE006)
. 4 * TS3SB 44 |M3x0.5/ 8 |2 |24 |80 T8 | 1.5/AXD4000(©M134)
- c TS3SBS | 4.4 |M3x0.5 6.5|2.0 |24 [80|T8 | 1.5|AXD4000(©M134)
Y TS31D 4.8 |M3x0.5| 7.2|22 |28 |82 |T10 2.5 HEHHOE007)
* TS32 3.9 |M3x0.5| 7.5|2 2.4 |60 (T8 | 2.0| SRM2(®M236)
# TS33 3.9 |M3x0.5| 6.7 2 |24 |60|T8 | 1.5/AQX(@M154) AJX(@M162) PMC(©M254)
TS35 4.8 |M35x06| 6.5|2.4 |2.8 [60|T10/ 2.5
* TS35D 5.3 |M35x0.6/12 2.8 |3.4 [60|T15/ 3.5|HSK3T(@H013)
* TS35R 5.7 |M3.5x0.6]10 2.1 |3.4 | — |T15] 3.5|AHX440S(DM038) AHX475S(DM043)
ol L R TS351 4.8 |M35x06| 7.2|2.4 |2.8 |60 |T10 2.5(AJX(@©MW162) SRM2(OM236) PMC(@M254)
! TS352 4.8 |M3.5x0.6| 10 3 2.8 |60 [T10| 2.5|VFX5(@M220)
o < d TS4S 54 |M4x0.7| 7 24 3.4 |80|T15 3.5
T e % TS4SL 54 |M4x0.7| 8 |24 [3.4 |80 |T15 4.0|BXD4000(@©M150)

TS4SB 5.8 |M4x0.7| 9 |27 |3.4 |80 |T15 3.5/|AXD7000(@M142)
* TS4SBL 5.8 |M4x0.7/10.5 | 2.7 | 3.4 |80 |T15| 3.5|GYAIZI=(@F001) AXD7000(DM142)

by TS4 54 |M4x0.7| 8 2.6 | 3.4 |60 |T15| 3.5(SS7HE2/IS0ZON010) CEICFICGSPOM246) TSMP(ON248)
TS4D 5.6 |M4x0.7| 7.7 | 2.5 |3.4 [82|T15 3.5|EEHHDE006)
TS42 54 |M4x0.7| 6 |26 |34 |60|T15 3.5
e TS43 54 |M4x0.7/10 2.6 | 3.4 |60 |T15| 3.5[AX@M162) BRP@M196) PMC(OM254) SRM2(OM236)
c TS44 54 |M4x0.7/12 2.6 |3.4 |60|T15 3.5
TS406 5.4 |M4x0.7/15.5|2.6 |3.4 [60|T15 3.5
TS407 5.4 |M4x0.7| 9 |26 |3.4 [60|T15 3.5|AQX(@M154) AIX(@M162)
TS450 5.9 |M45x0.75(13 | 3.6 [3.9 |60 |T20| 5.0| VFX6(@M224)
TS5S 6.8 |[M5x0.8/ 9 |29 |45 [(80|T25 7.5
* TS5SL 6.8 |M5x0.8/12 |29 |45 (80 |T25 7.5
TS5 6.8 |M5x0.8| 9 3.2 |4.5 |60 |T25| 7.5(SPttolE(©C022) CEICFICGSP(OM246) TSMP(©M248)
TS5L 6.8 |M5x0.8/15 |29 |45 |80|T25 7.5
TS5R 6.9 |M5x0.8/12 |3.5 (3.9 [60|T20| 5.0|WJX(@M172)
TS52 6.8 |M5x0.8 8 |3.2 (4.5 |60 |T25| 7.5|CESP/CFSP/CGSP(©M246)
TS53 6.8 |M5x0.8/16 |3.2 |45 |60|T25 7.5
TS54 6.8 |M5x0.8/12 |3.2 (4.5 |60 |T25 7.5|AJX(@M162) o
TS55 6.8 |M5x0.8/10.5|3.2 [4.5 |60 |T25| 7.5|GYA=IZ(QF001) AQX(OM154) SPX(@M215) SRM2(OM236) %
* TS6S 8.5 |M6x1.0(13 |4.4 |5.6 |60 |T30[10.0|AQX(@©M154) SRM2(DM244)
% TS6 8.5 |M6x1.0(16 |4.4 |5.6 |60 |T30[10.0|SRM2(®M244)

Q007



_ X3 (mm) 2= e = =
g4t 72 : e B v B s i e tg &
TPS20 2.7 |M2x0.4| 35(1.3 [1.8 | 60| 6IP| 0.5|ARX(®M192)
TPS22 3.0 |M22x045| 4.7 |1.6 |2.1 |60 | 7IP| 0.5|ARX(®©M192)
TPS22S 3.0 |M22x045| 4.2|1.6 |2.1 |60 | 7IP| 0.5|ARX(®@M192)
TPS25 3.3 |M25x045| 5.5|1.7 |2.1 |60 | 7IP| 1.0]APX3000(®M096) MVS(®P022)
TPS25-1 3.3 |M25x045| 6.5(1.7 |2.1 |60 | 7IP| 1.0/ APX3000(®M096)
TPS27F1 3.7 |M27x0.35| 6.5(1.8 |2.1 |60 | 7IP| 1.0]VPX200(®M110)
TPS27F2 3.7 M27x0.35| 8.0 (1.8 [2.1 |60 | 7IP| 1.0|]VPX200(®M110)
o TPS3 3.9 |M3x0.5| 6.7 |1.4 |2.82| 60 [10IP| 1.0|MVX(®P231)
TPS35 5.3 |M3.5%x0.6/11.5|2.8 |3.4 |60 |15IP| 3.5[ASX445@M030) ASX400(DM080) PMR(OM258)
e TPS351 4.8 |M35x0.6| 7.2|1.4 |2.82]|60 |10IP| 2.5 MVX(®©P231)
TPS351B 5.1 |M3.5x0.6| 7.2 1.4 |2.82|60 [10IP| 2.5 ARP(@©M186)
TPS4 53 |M4x0.7| 8 (2.6 |3.4 |60 |15IP| 3.5|APX4000(©M102) ARP(OM186) MVX(©P232)
TPS40F1 5.3 |M4x0.5/10.5 (2.8 |3.4 | 60 [15IP| 3.0|VPX300(®M122)
TPS43 5.3 |M4x0.7|10 |2.6 |3.4 |60 [15IP| 4.0/ APX4000(®M102) MVX(®P233)
TPS4R 6.4 |M4x0.7/10.6 2.9 | 3.4 |60 [15IP| 3.5|WSX445(@M018)
TPS54 6.8 |M5x0.8/12 |3.2 (4.5 |60 25IP| 7.5[MVX(®P234)
TSR05008S | 3.5 |M5x0.8| 8 — (28 | — |T10| —
TSR06011S | 4 M6x1.0{ 11 — |39 | — [T20| —
TSS04005 —  |M4x0.7| 5 — |24 | — |T8 | — |PMF(©M256)
TSS04505S —  |M45x0.7| 5 — |3.5 | — |T10| 3.5|FMAX(©MO066)
TSS05006 — |M5x0.8| 6 — 2.8 | — |T10| — |BCZIEZ|X| ISOH(©N008)
TSS06010 — M6x1 |10 — 3.9 | — |T20| — |sS7IEE|X| ISOE(©N010)
WCS503507H| 6.3 |M5x0.5 7 3.3 [3.5 | — | — | 5.0|ASX445@M030) ASX400(©M080) PMR(OM258)
WCS604010H| 7.8 |M6%0.75/10 |4.1 |4.0 | — | — | 7.0[PMR(®M258)
WS1 8.5 |M5x0.8/19 |5 45 | — |T25| 7.5
WS254012T | 4 M2.5x045/11.5 (2.2 | 2.4 |80 |T8 | 2.0| TAW=Z(©P219)
WS254013T| 4 M2.5x0.45|12.5 12.2 | 2.4 |80 (T8 | 2.0
WS254014T| 4 M2.5x0.45/13.5 2.2 |2.4 (80 (T8 | 2.0
WS254015T | 4 M2.5x045/14.5 2.2 |2.4 |80 (T8 | 2.0
- WS254016T| 4 M2.5x0.45/ 15.5 2.2 |24 (80 (T8 | 2.0
© :‘| BR = _QI WS304517T| 4.5 |M3x0.5/16.5|3.4 |2.8 [60|T10| 3.5
7%[ WS304518T| 4.5 |M3x0.5/17.5|3.4 |2.8 |60|T10| 3.5
~— WS355520T| 5.5 |M3.5x0.6/19.5|3.9 |3.4 |60|T15| 5.5
£ £ WS355521T| 5.5 |M35x0.6/20.5|3.9 |3.4 [60(T15 55
- WS406023T| 6 M4x0.7/22.0 |[4.4 |4.5 (60 (T25| 8.5
% WS406024T| 6 M4x0.7/23.0 |14.4 |4.5 (60 [T25| 8.5
WS508026T| 8 M5x0.8/25.0 |5.2 |5.1 [60|T27|12.0
WS508027T| 8 M5x0.8/26.0 |5.2 | 5.1 |60 (T27|12.0
WS203107TPS | 3.1 |[M2x0.25| 7.3 (1.7 [1.8 |60 | 6IP| 1.0[ sTAW=Z/(©P218)
ERm WS203108TPS| 3.1 |M2x0.25| 8.3|1.9 |1.8 | 60| 6IP] 1.0
ol HE L || WS253909TPS | 3.9 |M25x0.35| 9.5(2.4 |2.4 |60 8P| 2.0
d WS304912TPS | 4.9 |M3x0.35/12 |3.25|2.82| 60 |10IP] 2.5
™ [+

Q008



A
_ /%= (mm) A= oy E3 =
gg 'I_'llj—4| & b & d - 9" MUE (Nm) EHS §E1
\ BOES101 15 [M10x1.5 45 | 10 8 | 60/ — |10.0| OCTACUT(®M180)
EY NT; I I o
]
[
% HSC08030H 13  |M8x1.25| 38 8 5 | — | — | 24|APX3000/4000(@M096, M102)
HSC08040 13 |M8x1.25| 48 | 8 | 6 |—|—| 24 f;;‘::g;%\"w‘l’gj)
HSC08050 | 13 [M8x1.25| 58 | 8 | 6 | — | — | 24| xxp7000(©M142)
= #HSC10030H | 16 |[M10x1.5| 40 | 10 6 | — | — | 40[APX©M102) AJX(OM162) WSX445(OMO018)
M= D — "l HSC10035 16 |M10x15| 45 | 10 | 8 [ — | — | 44|BXD(@M150)
i d | HSC10045 | 16 |M10x15| 55 | 10 | 8 | — | — | 44|VFX5/6(@M220)
c HSC10055 16 |M10x15| 65 10 8 | — | — | 44|AHX475S(@M043) AHX640S(@M046)
HSC12035 18 |M12x1.75 47 | 12 | 10 | — | — | 80| wsSX445(©M018)
* HSC12035H 18 M12x1.75 47 | 12 | 10 | — | — | 80| APX3000/4000(©M096, M102) AJX(OM162)
HSC12045 18 |M12x1.75 57 | 12 | 10 | — | — | 80|wsX445(©M018)
© _.., _He_-__ _Ql HSC12070 18 |M12x1.75 82 | 12 | 10 | — | — | 80
d HSC16040 24 |M16%x2| 56 | 16 | 14 | — | — |[150
e ~ ¢ #*HSC16040H | 24 |[M16x2| 56 | 16 | 14 | — | — |150(APX3000/4000(©M096, M102) AJX(©M162)
HSC16080 24 | M16x2| 96 16 14 | — | — |150
*EA= S8HE 7Y =L HSC20040 30 |[M20x25| 60 | 20 | 17 | — | — 320
HSC20090 30 |[M20x25/110 | 20 | 17 | — | — |320
e HSCX12030H| 24 M12x1.75 37 7 8 | — | — | 40|FMAX(@©MO067)
{:; D HSCX16035H| 30 |M16x2| 44 | 9 | 12 | — | — 100
] g HSCX16045H| 30 |M16x2| 54 9|12 | — | — [100
& ¢ HSCX20035H| 36 |M20x2.5| 46 11 14 [ — | — 180
HFF08043H 11 M8x1.25| 43 5 5 |90 | — |8.2|AXD4000(@M134)
— _— BXD(@M150)
o| o £ }-HE‘:'.‘.%J :{
e ‘(_’. c
‘ MBA16033H( 40 |[M16x2| 43 | 10 | 14 | — | — 150 AHX640((2100%;(®M046) © )
[ | WSX445(©M018) APX4000(©M102
o {E %:::::: o MBA20040H| 50 |M20x2.5| 54 | 14 | 17 320 AHX475S(OMO043) AHX640S(OMO46)
1] d MBA24045H 65 M24x3| 59 14 17 | — | — |520 AXD4000(©M134) AXD7000(©M142)
e ¢ AJX(©OM162) BXD(©M150)
24 7% A () o oig &0
a a’ b c d e [(Nm)
< < HDS08030 ([M8x0.75/M8x1.25/30 | 13.5 | 11.5 | 4 | 8.2 |BRP(©M196)
(;II- E|I- HDS10031 |M10x1.0M10x1.5[31 | 14 |12 | 5 | 9.0 |OCTACUT(©M180) PMF(OM256)
© ::V S I I ‘©
e (4
b

[

Q009



AME 7
At 77 A (mm) e &
a b c d e f
CS32 952 | 318 | 08 | 08 | 12 | 1.2
c ‘ d «| CS42 1270 | 318 | 0.8 | 0.8 | 1.2 | 16
/\ Cs43 1270 | 476 | 0.8 | 0.8 | 1.2 | 16
. - T+ CS62 19.05 | 318 | 1.2 | 12 | 16 | 16
\ / #* PS31 828 | 238 | 02 | 02 | 06 | 06
1, [ ol 1ol | PS42 1146 | 318 | 02 | 02 | 06 | 1.0 |BC7H=2Ix 1SOH(©ON00)
% PS62 1720 | 318 | 03 | 03 | 0.7 | 07
CT22 635 | 318 | 04 | 08 | 12 | —
c «| CT32 952 | 318 | 04 | 08 | 12 | —
CT33 952 | 476 | 04 | 08 | 12 | —
é% CT42 1270 | 318 | 04 | 08 | 1.2 | —
/&yj\ T # PT21 511 | 238 | 02 | 02 | 06 | —
d/ Ne * PT32 8.28 3.18 0.2 0.2 0.6 — |FE 22HH©E026)
a b b x PT42 10.85 | 318 | 03 | 03 | 0.7 -
BPT322 7.8 318 | — — — —
38V~ B DCSVN32| 952 | 3.18 | 0.8 | 1.2 = — |HESa=H0IE(©Cc018)
CiE SY= EZHHOE015)
,)1,
/a [ b
¢ ‘ d ESS42 1270 | 318 | 0.8 | 08 | 1.2 | 1.6
@«,
e ‘a f
¢ EST32 952 | 318 | 04 | 08 | 12 | —
%\ ) EST43 1270 | 476 | 04 | 08 | 12 | —
O g
d La e b
LLSCN3T3| 952 | 397 | 04 | 04 | 08 | 0.8 EE%%EBEQ%E%%
. % | LLSCN33 952 | 476 | 04 | 04 | 08 | 08 |pg S=5=(®E040)
LLSCN42 | 1270 | 318 | 0.8 | 0.8 | 1.2 | 1.2 t'fﬁi((%'é%%g
}:E . LLSCN53 | 1587 | 476 | 1.2 | 1.2 | 16 | 1.6 | 5i=a/x 1S02(©N006)
[ ) LLSCN63 | 19.05 | 476 | 12 | 12 | 16 | 1.6 |PH 226HOE035)
% LLSCP42 | 1270 | 318 | 08 | 08 | 12 | 1.2 |cE 2= SEHHOE013)
b b_| #* LLSCP63 | 19.05 4.76 1.2 1.2 1.6 1.6 |HSK3T(©H001)
PE H2HH(OE035)
© i LLSDN32| 952 | 3.18 | 0.8 | 1.2 — — EE%%”EE&%%%%
LLSDN42 | 12.70 | 3.18 | 0.8 | 1.2 — = Dajfgﬁg'&m)
% 1 LLSDN43 | 12.70 | 476 | 0.8 | 1.2 — — ['fggé((g'g%gg)
LLSDN53 | 1587 | 476 | 12 | 16 | — — |P8 22E{(©E035)
ad b| |b % LLSDP42 | 1270 | 318 | 0.8 | 1.2 — — |o= =23z 9=Z6HOE013)
LLSRN103| 8.3 3.18 | — = — —  [HSk=7(©Ho01)
) LLSRN123 | 9.8 3.18 - — — —  |LLBto|E(©C024)
o ’(#)\ }Z{ LLSRN164 | 13.6 476 | — — = =
= H LLSRN204 | 17.3 4.76 - - — —
= — : :
b LLSRN256 | 22.0 6.35 | — — = =
T LLSRN326 | 28.0 635 | — — - —
LLSSN32 | 952 | 318 | 08 | 0.8 | 1.2 | 1.2 [LLElol=(®©co12)
¢ ‘ d — #* LLSSN33 9.52 4.76 0.8 0.8 1.2 1.2 |LLZIEZ|X| ISOH(©ON006)
) LLSSN42 | 1270 | 318 | 08 | 08 | 12 | 16 |PE =auiOE03s)
\ /’ ° H LLSSN53 | 1587 | 476 | 12 | 12 | 16 | 1.6
‘ - LLSSN63 | 1905 | 476 | 12 | 12 | 16 | 2.0
Cla |f lb| |b LLSSN84 | 2540 | 635 | 16 | 1.6 | 24 | 24
% LLSSP42 | 1270 | 318 | 0.8 | 0.8 | 12 | 1.6

Q010



Xl (mm)

S| AH 2 o =
g ™ a b c d e f HE &
c .| LLSTE32 | 76 3.18 | 0.4 04 | 04 — |cl==2#=stol=(©c016)
LLSTN32 | 9.52 3.18 | 0.4 08 | 1.2 — |Ci2 S2¥Z SZHHOE014)
LLSTN33 | 9.52 476 | 0.4 08 | 1.2 — | stol=otmtel(©N012)
/ : \ 1 . LLSTN42 | 12.70 318 | 0.4 08 | 1.2 — |p" 22sI=(©E040)
y i . LLSTN53 | 15.87 476 | 0.8 12 | 16 — | LLBlO|E(©C008)
d a € b b| |*LLSTP32 9.52 3.18 | 0.4 08 | 1.2 —  |LLztEEIR IS0 (©NO006)
#LLSTP42 | 12.70 3.18 | 0.4 08 | 1.2 — |PE =2HHOE035)
c % | LLSWN32 | 9.52 318 | 0.4 08 | 1.2 — |ci==2a=sto/=(©c021)
LLSWN3T3| 9.52 3.97 | 04 08 | 1.2 — |Ci2 =23z E1ZuHOE015)
] LLSWN42 | 12.70 318 | 0.4 08 | 1.2 — | LLBIO|E(©C008)
g #*LLSWP32 | 9.52 318 | 04 08 | 1.2 —
d | a | ¢© b lb| | % LLSWP42 | 12.70 318 | 0.4 08 | 12 | —

MHS532R/IL| 9.4 15.7 | 45 0.8 | 0.8 —

d
/@ﬁ MHS533RIL| 94 | 157 |45 | 1.2 | 12 | —
s MHS534RIL| 94 | 157 |45 | 1.6 | 16 | —
[

55 MHS542R/L| 94 | 157 |65 | 08 | 08 | —
6 MHS543RIL| 94 | 157 |65 | 12 | 1.2 | —
MHS544RIL| 94 | 157 |65 | 16 | 16 | —

PE E2H(OE036)

dy ,C MLCP42 12.58 318 | 1.2 1.2 1.2 1.2
1 a (e *i

¢ MLDP42 | 12.56 318 | 1.2 1.2 — — |rg =au©E036)

MLSP42 12.63 3.18 | 1.2 1.2 1.2 1.2 |PE 22HHOEO035)

A
N
) L_\_lz;zl_) =

Pl MLTP32 9.50 3.18 | 1.2 1.2 1.2 — [PE E2BHOE035)
AN 1
a b
d. Pt _ MSCN63 | 18.8 476 | 1.6 1.6 1.6 1.6 |S(2)EAS HEZU= HI0|E(QC014)
D) I
\J il
fr a he N b
c ,d _ MSSN63 18.8 476 | 1.6 1.6 1.6 1.6 |3(2)EAS HEZY= HI0|E(QC014)
@ i
N/ = =
e P T p =

CT32T1 9.525 | 15.03 | 3.18 - - -
#PT32T1R 8.28 13.34 | 3.18 = = =
#PT32T2R 8.28 13.19 | 3.18 - - —
#PT42TR 10.85 17.20 | 3.18 = = =

b

Qo011



Q012

AME 7
%gg. .T..l?d i"/l\‘ (mm) |:|'|2 §E1
- a b c d e f <
35° o _ PV321 9.52 3.18 04 0.4 — -
PV322 9.52 3.18 0.8 0.8 — — | MPH}0|E(DC019)
i PV323 9.52 3.18 1.2 1.2 — —
/a [ b
C B SPSVN32 8.06 3.18 0.3 0.3 - —  |HSKZT(©H001)
SPH}0| E(©C028)
5
=
d/a ] b
R STASX400N| 11.00 | 3.00 | 0.4 | 04 | 04 | 0.4 [ASX400(©M080)
| a | b
STASX445N | 10.76 3.00 - - — — | Asx445(®M030)
a il
c. ‘ d STBS500N | 12.7 3.18 0.8 0.8 0.8 0.8
e a f N b
«© — WPSTN33 9.3 4.76 0.8 0.4 1.2 — |wPHlO|E(©C017)
WPSTN43 | 12.50 4.76 0.8 0.4 1.2 —
) ﬂ]&
NN
d/ a \e | b
¢ ¥ | *xWPSWC43 | 12.50 4.76 0.4 0.8 1.2 —
WPSWN43 | 12.50 4.76 0.4 0.8 1.2 -
/
d a e b| |b




AMeEDHE o SH=Y W 7

o o A== (mm) - =
=R 4 a o c v . s &0
BCP141 3.0 14 5.6 - - SPH}0| E(©C028)
BCP201 43 2 7.4 — — FE 2 26HOE026)
BCP202 4.3 2 6.4 — - HSKZ7(@H013)
BCP251 4.8 2.5 7.4 — - BC7E2|X| ISOY(©NO008)
c BCP252 4.8 25 6.4 — -
BCP301 5.3 3 7.4 — —
BCP401 6.3 4 7.4 — —
— CCP33 6.5 3.66 | M5x0.8 18.5 3 WPH0| E(@C017)
© n[ = CCP34 75 50 |M6x1.0| 185 3
— CCP44 7.5 5.0 M5x0.8 14.2 3
e
d
LLCL12S 2.1 9.3 5.6 - - LLH}O| E(©C008)
LLCL13 3.6 10 12.5 — = LLZ}E2|X| ISOE(©N006)
a_ LLCL13S 3.6 10 7.8 — — DY 25| =(QE040)
‘ ‘ LLCL14 4.7 13.4 13.2 - - HSK37(@H001)
LLCL14S 4.7 13.6 12.2 - - KSMG(®M252)

. LLCL15 6.0 19 17 — — 50| =2 0}ml(©N012)
. ° LLCL16 75 20.8 21 — — |P8 22HHOE035)
LLCL18 8.6 254 25.2 — —

b LLCL23 3.6 12.0 11.5 — -
LLCL23S 3.6 11.6 9.5 - -
LLCL24 4.7 16.2 14.8 — —
LLCL25 6.0 171 17 — —
-4 ) LLCL110 3.0 10.7 11.6 - —
LLCL112 35 13 13.5 — —

LLCL116 4.5 18.5 18 — -
LLCL120 5.6 20.3 19 = =

LLCL125 6 24 24 — —

. b LLCL132 8 30 27 — -
LLP13 5.55 4.85 5.3 - — LLH}O| E(©C008)
LLP14 7.25 6.55 5.8 — — ClEE ¥ =Hlo| E(QC008)
LLP15 8.8 8.05 8.6 — — C2 ST EEHHOE013)
LLP16 10.85 9.85 111 — — PE H2IH(OE035)
LLP18 15.35 13.05 12.0 - — DY H 28| =(QE040)

m[ a @ LLP23 5.55 4.85 6.8 — — HSK3(@H001)

LLP24 7.25 6.55 9.1 — - KSMG(®@M252)

< 5101 504TF21 (©ON006)

LL7IE 2| X| ISOH (©N006)

— MP6 11.9 7.8 M10x1 221 15 F(B)PAME HE2HY=Z vlo|E(QC014)
@ B ©

Q013



=3 7
== (mm)
Hat 2 e &C
& a b c d e f =
P11S 6 37 | 4 17 | 111 | — |DE E¥s|=(OE042)
Al = P21S 75 49 | 45 | 172 | 115 | — [MPHOIE(@C018)
© 2 1 17T 1 °
e
d
f P221US 4 18 211 | 35| 33| 77
= P321US 5.5 18 364 | 50| 33| 75
B S | P322US 5.5 21 364 | 50| 33| 105
e P323US 5.5 24 364 | 50| 33| 135
b P332US 55 | 21 364 | 50| 49| 89
f P323WS 575 | 24 364 | 50| 33/ 129
P333WS 575 | 24 364 | 50| 49| 113
o of i P334WS 575 | 30 364 | 50| 49 |173
kel
e | P433W 775 | 24 503 | 70| 49| 108
b P434W 7.75 | 30 503 | 70| 49 | 168
Sdz 7%
o 3% KI5 (mm) e &0
a b c d e f
a d AMS3 7 12 3 3.3 — — |==25IY Ho| E(@C030)
- AMS4 9 | 135 3 38| — | = |Ax©WE)
a AMS5 10 15 35 | 5 - -
[
CA142 8 15 4 7 - -
CA150 9 16 45 | 7 = =
a d CA151 10 17 5 7 - -
CA152 10 19 5 7 = =
CA153 10 24 5 7 - -
2 CA161 13 20 6 8 = =
CA162 13 24 6 8 - -
< CA163 13 27 6 8 — —
CA181 16 30 8 10 - -
CA183 16 37 8 10 = =
a i CCK13 15 185 | 6 9 — —  [wPtto|E(©C017)
CCK14 19 22 8 95 | — =
R "
.|
_d_ ccTC1 13 25 7 102 | — -
. |
a < |
d ;j; CK231 M6x1 8 4 75| 45 | 95
M CK232 M6x1 8 45 | 8 45 | 115
—fiele CK341 M8x1 | 11 55 | 135 | 6 13.5
f Rf | cK342 M8x1 | 11 6 14 6 16.5
e [

Q014



iy
o
K
=1
N

Xl (mm)
= 4 e &C
a b c d f =
a 10.9 225 | 9.2 16.8 M8x1 | 5 (E)EAME HEZ Y= 0| E(QC014)
1 o
:
d DCK2211 1 22 6.57 | 111 — |HEZ23=4}o|E(©C008)
DCK2613 13 265 | 7.35 | 12.9 — |H= Sz HSHHOE013)
DCK3113 | 13 31 |9 14.5 _  |HSKST(@H001)
[+
KGC1 12.0 15.0 |M7x0.75| — — | UGHIO|E(©F114)
,4,;3J -
a
a LK1 8 143 | 45 5.9 —
Qo
MHK5NR/L 15.5 23.5 | 81 12.1 —
b a
MTK1R/L 13 175 | 5 12 — | HSK3T(@H001)
MGE}O| E(©F116)
Jan | R MTt}0| E(©G024)
MT1t}0| E(©G024)
a
MTK2R/L 18 28 7 14 —
Qo
a
a d SETK51 6.8 145 | 29 8 — | MmTESBt0| E(©G019)
SETK61 89 | 181 | 4.1 8.6 —  [MMTIEOIE(©G029)
; HSKZT(@H001)
a [
[+
a d SRK1R 9.4 21 55 7.5 —
aw
)
[
-5 UCR 12 24 8 7 —
]
a d

[

Q015



I
O

HER

Bao|Hma #H

s e X|== (mm) e a0
a | b | c | 2UEY | =0 =
CBS3 94 | 80] 15 9.525 15
CBS4 126 | 92| 25 | 1270 35
a | CBS4N |126 | 102 | 25 | 12.70 25
CBS4F |[126 | 112 | 25 | 1270 15
= 2 CBS6 18.9 | 146 | 25 19.05 45
CBS6N [189 | 166 | 25 | 19.05 25
CBS6F |18.9 | 176 | 25 | 19.05 1.5
CBS3D 80 | — | 15 | 9525 15
o | ] cBS4D (102 | — | 25 | 1270 25
CBS6D |[156 | — | 25 | 19.05 35
[ a
CBT2 533 14| 15 6.35 15 F8 22uHOE026)
. 60 CBT2N 567| 14| 15 6.35 1.0 #EXE|SEY AL, Zefo|HEo|
m CBT3 720| 14| 25 | 952 3.5 el SAEE 0 SmmAT .
CBT3N 787| 14| 25 | 9525 25
© ' CBT3F 853| 14| 25 9.525 15
CBT4 973| 14| 25 | 1270 45
CBT4AN |11.07| 1.4 | 25 | 1270 25
CBT4F |[11.73| 14| 25 | 1270 15
B4 72 " i'*;mm) o M8 A28 A (m) oS &
CBT3106 | 115 | 10.6 | 2.0 2.5—3.0
CBT3113 | 115 | 113 | 2.0 15—2.0
9B CBT3120 | 115 | 12 | 2.0 0.75—1.25
CBT4108 | 133 | 10.8 | 2.0 3.5—4.0
2 € CBT4128 | 13.3 | 128 | 20 45—5.0

=
.
F-4
=

Q016



x| H|

0{0

20

THI|1E

MK1K

MK1KS

Qo017



=
.
XX
=

Q018

HEF =

— e — ] o AL L —
EGHIO|E
FHE 7% ﬁ

A AfO| = Sm LA} il x|
2020K03 EGS06019 HKY30R
2525M3 EGS06019 HKY30R

EGHR 2525M4 EGS08024 HKY40R
2525M5 EGS08024 HKY40R
2525M7 EGS08024 HKY40R
2525M8 EGS08024 HKY40R
ETH}O|E
= © ’
G AV alL=EZE Ve
st JES sz SUT LA | AIEDELA} AE FERERES 2l x|
BT31
ETHR 2525M16 CK341 LS2 cFMoz00s | | 1o2TTR gBT;?g HKY40R
PT32T2R
CBT3120
LLH}IO|E
@ & y & f
&

At Ato|= AIE AIE DHE Sy Y ST LA x|
1616H09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2020K09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R
2525M09 LLSCN3T3 LLP13 LLCL13 LLCS106 HKY25R

ggi:gt 2020K12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
POBNRIL 2525M12 LLSCN42 LLP14 LLCL14 LLCS108 HKY30R
2525M16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
3225P16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R
4040R19 LLSCN63 LLP16 LLCL16 LLCS310 HKY40R
1010E11 — — LLCL12S LLCS105 HKY20F
1212F11 — — LLCL12S LLCS105 HKY20F
PTANRIL 1616H16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTBNRI/L 2020K16 LLSTN32 LLP13 LLCL13 LLCS106 HKY25R
PTTNRI/L 2525M16 LLSTN32 LLP13 LLCL13 LLCS206 HKY25R
PTGNR/L 2525M22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
PTFNR/L 3225P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
3232P22 LLSTN42 LLP14 LLCL14 LLCS108 HKY30R
4040R27 LLSTN53 LLP15 LLCL25 LLCS508 HKY30R
3225P12 LLSSN42 LLP14 LLCL14 LLCS108 HKY30R
2525M15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
i:gsgﬂ: 3232P15 LLSSN53 LLP15 LLCL25 LLCS508 HKY30R
PSKNRIL 3232P19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
4040R19 LLSSN63 LLP16 LLCL16 LLCS310 HKY40R
5050725 LLSSN84 LLP18 LLCL18 LLCS112 HKY50R
2020K10 LLSRN103 LLP13 LLCL110 LLCS205 HKY20R
2020K12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRGCRIL 3225P12 LLSRN123 LLP13 LLCL112 LLCS106 HKY25R
PRDCN 3225P16 LLSRN164 LLP24 LLCL116 LLCS306 HKY25R
4040R25 LLSRN256 LLP16 LLCL125 LLCS410 HKY40R
5050T32 LLSRN326 LLP18 LLCL132 LLCS112 HKY50R




MCHIO|E

n S
g A &L o\ L E
=0 Ato|= ANE AlE TET Sz SD LA} | 230|134 A 2l x| Amal
1616 CT22 BCP201 CK231 LS1 CBT2: HKY30R -
glé:';’l:: 2020 CT32 BCP301 CK341 LS2 CBT3:: HKY40R -
2525 CT32 BCP301 CK341 LS3 CBT3 HKY40R -
1616 CS32 BCP251 CK232 LS1 CBS3(: HKY30R -
gg;:g/:: 2020 CSs42 BCP301 CK341 LS2 CBS4: HKY40R -
2525M43 CS42 BCP301 CK341 LS3 CBS4: HKY40R =
CTAPRI/L 2020 PT32 BCP201 CK341 LS2 CBT3:: HKY40R —
ggg;gt 1616 PS31 BCP201 CK232 LS1 CBS3: HKY30R -
CSKPRI/L 2020 PS42 BCP251 CK342 LS2 CBS4: HKY40R -
CTCPRIL 2020K16 BPT322 BCP201 CCTC1 | HSC06020 CBT3:: HKY50R MES3
2525M16 BPT322 BCP201 CCTC1 | HSC06020 CBT3:: HKY50R MES3
MGH|0|E
FHE 72 § § %
Bt Ato|= Suz ST LIAL Amal 2ilx|
2020K3333 MTK1L/R HBH06020 MES3 HKY40R
2020K4447 MTK1L/R HBH06020 MES3 HKY40R
MGHRI/L 3232P5660 MTK2L/R MGS6 MES3 HKY50R
3232P5670 MTK2L/R MGS6 MES3 HKY50R
3232P5680 MTK2L/R MGS6 MES3 HKY50R
MG2& H|O|E
FHE 72 @ § f
S Ato|= Sz Sm LIAL Azmal 2l x|
2525M4315 MTK1R/L HBHO06020 MES3 HKY40R
MG2R/L 2525M4323 MTK1R/L HBH06020 MES3 HKY40R
2525M4333 MTK1R/L HBH06020 MES3 HKY40R

[

Q019




HEF =

Q020

|
HZE BE 2= (Hl0|=
T =3 o AL
MHH}O|E
IS 5 &Y Vs @ ﬁ
BT AfOI= AE AETHT e Sy LA A2 2l x|
MHS532R/L
KKCR/L 445 MHS533R/L | SFC03010 MHK5NR/L MHT1 CES HKY40R
MHS534R/L
MLH}O|E
0
FRE 7 @ ’ ﬁ
E=E ALO|= = AE AEE AdfL
1212 P221US — ER2 KY25
ETANR/L 1616H32 P322US — ER3 KY40
ETENN 1616H33 P332US - ER3 KY40
ETFNR/L 2020K32W P323WS EST32 ER3 KY40
ETGNR/L 2020K33W P333WS EST32 ER3 KY40
ETXNR/L 2525M33W P334WS EST32 ER3 KY40
2525M43W P434W EST43 ER4 KY40
ESBNR/L | 1212 P321US — ER3 KY40
Egg“';l/t 1616H32 P322US — ER3 KY40
ESKNR/L 2020W P433W ESS42 ER4 KY40
ESSNR/IL | 2525W P434W ESS42 ER4 KY40
MPHIO|E
\@ 0
THE 72 ) 4@ f
&
e NES AE =g EnY e 2l x|
PVVNN
PVPNRIL 3225P16 PV32 P11S HSP05008C E03 HKY25R
MT2& HlO|E
HE 72 § § %
A JYES sz Sz LA Az allx|
MT2R/L 2525M4 MTK1L/R HBH06020 MES3 HKY40R




SETHIO|E

&S

R )
D) 4
M= 4 f /S
THE 74 ,'| @ @ & v > /
0 JUVES sz S¥z U4Al | cH mHE AETHE AlE Bl
1616H16 SETK51 SETS51 CR4 HFC03008 CT32T1 YRR
SETHR 2020K16 SETK51 SETS51 CR4 HFC03008 CT32T1 e
2525M16 SETK51 SETS51 CR4 HFC03008 CT32T1 RYLeE
SLHIO|E
FHE 72 & & f
N & | & $
0 JUES AE =z HE S mix| ST LA} il x|
HKY25R
33K16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYAOR
HKY25R
ETINRIL 44M16S SLSTN33 SLP13 SLN13 SLCW13 SLCS105 HKYA0R
ETQNR/L 44M228 SLSTN43 SLP14 SLN14 stcwis | sLcstos | HKYROR
HKY30R
54P22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
ETNNRIL 64M22S SLSTN43 SLP14 SLN14 stcwi4 | sicstoe | HRYSOR
HKY30R
85M22S SLSTN43 SLP14 SLN14 SLCW14 SLCS106 HKYA0R
SPHIO|E
FHE F4 & N CL>
1= T @. //Q/ LESS
ER ALO|= SUZ LIA} 2| AlE AE DHE
0808D07 TS25 TKYO8F - -
:g‘;ggt 1010E07 TS25 TKY08F - _
SDXCRIL 1212F07 TS25 TKYO8F - -
1616H11 TS43 TKY15F - —
0808D11 TS25 TKYO8F - -
gx;’fé';’ L 1010E11 TS25 TKY08F _ _
SVPCRIL 1212F16 TS43 TKY15F - -
3225P16 TS44 TKY15R SPSVN32 BCP141
SSBCRIL 1616H09 TS43 TKY15F — —
0808D06 TS25 TKYO8F - —
SRGCRI/L 1010E06 TS25 TKYO8F — —
SRXCR/L 1212F06 TS25 TKYO8F — —
SRDCN 1010E08 TS3 TKYO8F - -
1212F08 TS3 TKYO8F - —
SRHIO|E
/
FHE 7 & N
I= 7 § //Q/
0 Afol = ST LA} 2l x|
SRSGRIL 2525M20 TS5 TKY25F
SRSGN 3225P20 TS5 TKY25F

Q021




=
.
XX
=

Q022

HEF =

I
HEZE2E EE 2= (HO|E
TR O - T
TWPHIO|E
- D
FAE ‘ (Y| @ 4@ ﬁ
s (o) | & | >
A N{ES AE  [AIE DEE| SYZ | SYZ LHAL NS ZYE|  SLEA Azg alx|
HKY30R
MTINRIL 2020K16  |SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | wpPs1 | MEs2 | HKY3OR
MTENN 2525M16  [SLSTN33| CCP13 | CCK13 |SLCS105| CPT13 | WPs1 | MEs2 | HYZOR
MTQNRIL 2525M22  [SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | WPs1 | MEs3 | HKY3OR
MTNNRIL 5032M22  |SLSTN43| CCP14 | CCK14 |SLCS106| CPT14 | wPst | MEs3 | HiRYZOR
2020K08
MWLNRIL 2525M08  |WPSWN43| CCP34 | CCK13 |SLCS105 CPT24 | — MES2 | [1<Vo0R
3225P08
WPHIO| £
FAE 7 @ | - ﬁ
. N\ & | W7
A Ato|= AE  |AIE 1| Sz | SYZ LA MEEIEE|  SLAL e alx|
2020K16N  [WPSTN33| CCP33 | CCK13 |SLCS105| CPT13 | — MEs2 | HKY2ZOR
MTENN _ HKY25R
MTQNRIL 2525M16N  [WPSTN33| CCP33 | CCK13 |SLCS105, CPT13 mEs2 | HKY2oR
2525M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MEs3 | HKY3OR
MTNNRIL 5032M22N  |WPSTN43| CCP34 | CCK14 |SLCS106| CPT14 | — MES3 |HRY3IT-
220|E8 HO|E
R
© LF
FHE 7 A\ %i S
& & Y
el Atol= AlE NEDHE sz Ay YU LA} x|
PTGERI/L 2020K16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
PTFERIL 2525M16 LLSTE32 LLP13 LLCL131 LLCS106 HKY25R
SUVDN 1616H16 - - - FC400890T | TKY10F
SVPDRIL 2020K16 - —~ —~ FC400890T | TKY10F
2525M16 - - - FC400890T | TKY10F




& F& tHS=E(s7I3/EE)
— e —] o\ O/ 2 k=
DGHIO|E
,@ : (8
FHE 74 "/ % @‘\
&
sz MNEE| DELIAL Bl x| ST LA Azg
DGHRI/L 1616K2G DGK2R/L - HKY40R DGS51 MES2
DGHRI/L 1616K3 DGK3RI/L - HKY40R DGS51 MES2
DGHRI/L 1616K3G DGK3RI/L - HKY40R DGS51 MES2
DGHRI/L 1616KF3 DGK3RIL - HKY40R DGS51 MES2
DGHRI/L 2020K - HSC04014 HIRYSOR DGS51 MES2
DGHRI/L 2020KFS - HSC04014 NS DGS51 MES2
DGHRI/L 2020KL - HSC04014 HISY39R DGS51 MES2
DGHRI/L 2020KLS - HSC04014 O DGS51 MES2
DGHRIL 2020KS - HSC04014 HISY20R DGS51 MES2
DGHRIL 2525M - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MC - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MCS - HSC05010 HKY40R DGS51 MES2
DGHRIL 2525MF - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MFS - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525ML - HSC05012 HKY40R DGS51 MES2
DGHRI/L 2525MLS - HSC05012 HKY40R DGS51 MES2
DGHRIL 2525MS - HSC05012 HKY40R DGS51 MES2
HSK-TZ (DG)
Q
&
THE 7% $§
MEE THELIAL ST LIAL Axgl by
H63TH-DGHRI/LS HSC05012 DGS51 MES2 HKY40R
H63TH-DGHR/L HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-H5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-H6 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L4 HSC05010 DGS51 MES2 HKY40R
H63TH-DGHN-L5 HSC05012 DGS51 MES2 HKY40R
H63TH-DGHN-L6 HSC05012 DGS51 MES2 HKY40R
UGHIO|E
THE 73 f
Bl x|
DGHN262 UGS1
DGHN263 UGS1
DGHN264 UGS1
DGHN265 UGS1
DGHN322 UGS1
DGHN323 UGS1
DGHN324 UGS1
DGHN325 UGS1
UGHIO|IEE E E8
g= A3
®©
= | /&‘
s i &
sy= ST LIA} allx| MEZE 2l x|
KGBN26-20 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN26-25 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN32-20 KGC1 LST15T TKY25R HSC08016 HKY60R
KGBN32-25 KGC1 LST15T TKY25R HSC08016 HKY60R

Q023



abxlu}
%
FHE 7
Sz LAl 27|
S08HSTFPR09 TS253 TKYOSF
S10KSTFPR09 TS25 TKYOSF
SCOOSTFPR TS3 TKYOSF
O00STFPR16 TS4 TKY15F
SCLPR/LO8 TS3 TKYOSF
SCLPR/L09 TS4 TKY15F
SWLPR/L04 TS25 TKYOSF
SWLPRIL06 TS4 TKY15F
o WXHH(EH &3)
) A
FRE 7 & Y4
U LAl x|
E08KSTFPRO09 TS253 TKYOSF
E10MSTFPRO9 TS25 TKYOSF
ECOOSTFPRA TS3 TKYOSF
EC:CCSCLPRO8 TS3 TKYOSF
ECC00SCLPRO9 TS4 TKY15F

! @) D

FHE 7 @ & /,/;\\ Q f

=0 Ato|= AE AE THE | Sz Yy | SUZ LA | SUZ ME =307 Da| AE Bl x|
132R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 - - - HKY30R
DPSK 140R/L | LLSSN42 | LLP14 LLCL14 |LLCS108 — — — HKY30R
150R/L | LLSSN63 | LLP16 LLCL16 |LLCS110 — — — HKY40R
163R/L | LLSSN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
DPTF 150R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 - - - HKY30R
163R/L | LLSTN42 | LLP14 LLCL14 |LLCS108 - - — HKY30R
DPDU 132R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 - - - HKY30R
DPDH 140R/L | LLSDN42 | LLP14 LLCL24 |LLCS108 - — — HKY30R
DPDZz % 150R/L | LLSDN53 | LLP15 LLCL15 |LLCS208 - - - HKY30R
DPCL 150R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 = = = HKY40R
163R/L | LLSCN63 | LLP16 LLCL16 |LLCS110 - - - HKY40R
DPVP 150R/L | PV322 P11S - HSP05008C - - EO03 HKY25R
132R/L | PT32 BCP201 - - c4 CBT3N - HKY30R
] DCTU 140R/L | PT42 BCP251 — — c5 CBT4F — HKY40R
& 150R/L | PT42 BCP251 — — c5 CBT4F — HKY40R

% DPDH150R/LEF ALO|= 140R/LS| CHSFE0| EuCt.

D B =(LIAMEE, EXEIE)

THE 4 ﬁ @ ﬁ

4 ALO|= =H SLEAL 258 ik
DPT2 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R
DPT4 132R P21S HSP08014 EO1 HKY40R
140R P21S HSP08014 EO1 HKY40R

Q024



F& 2&lu}
FRE 7 ﬁ) \.@ﬁ‘ @ ﬁ
— S|
sy AtOI= AlE AE THE EEER 23013 TA 2%
116RI/L - - c3 CBS3 HKY25R
FosK 120R/L - - c3 CcBS3 HKY25R
125R/L PS42 BCP252 c4 CBS4F HKY30R
132R/L PS42 BCP251 c4 CBS4F HKY30R
216RIL — — c3 CBS3 HKY25R
FCSK 220RIL - — c3 CBS3 HKY25R
225RIL PS42 BCP252 c4 CBS4F HKY30R
FCTU 232RIL PT32 BCP201 C4 CBT3F HKY30R

Fal Halup(LARE, &5 2l8)

&S R LF
FHE 7 @= \%) § @&&& ) S
E0 INIIES sy= Sym ME | S LA AE AlE DELAL | c8 1HEY 2l x|

116R/L LK1 — HBH04012 - - - HKY25R

120R/L LK1 - HBHO04012 - - - HKY25R

125R/L LK1 — HBHO04012 - - - HKY25R

FCL5 132R/L LK1 - HBH04012 - - - HKY25R
216R/L LK1 — HBHO04012 - - - HKY25R

220R/L LK1 - HBH04012 - - - HKY25R

225R/L LK1 — HBHO04012 — - — HKY25R

M16R - C3 - - - - HKY25R

Q20R - C4 - - - - HKY30R

NTF R25R - C4 - - - - HKY30R
R216R - C3 - - - - HKY25R

S220R — C4 - - - - HKY30R

T225R - C4 - - - - HKY30R
K16R11 - - TS25 - - - TKYO8F
M16R - — CS350860T - - - TKY15F

P20R SETK51 - SETS51 CT32T1 HFC03008 CR4 Es

R25R SETK51 — SETS51 CT32T1 HFC03008 CR4 IRYLeE
SNTF M210R11 - - TS25 - - - TKYO8F
Q212R11 - — TS25 - - - TKYO8F
R216R - - CS350860T - - - TKY15F
S220R SETK51 — SETS51 CT32T1 HFC03008 CR4 TKY15F
T225R SETK51 - SETS51 CT32T1 HFC03008 CR4 TKY15F

120R/L3M - BC5 - - - - TKY20R

125R/L3M - BC5 - - - - TKY20R

132R/L3M - BC5 - - - - TKY20R -
=

Fopga | 120R/L4AM - BC5 - - - - TKY20R
125R/L4M - BC5 - - - - TKY20R

132R/L4M - BC5 - - - - TKY20R

125R/L5M - BC5 - - - - TKY20R

132R/L5M - BC5 - - - - TKY20R

120R/L4J - BC5 - - - - TKY20R

125R/L4J — BC5 - - - - TKY20R

FCDG4 | 132R/L4J - BC5 - - - - TKY20R
125R/L5J - BC5 - - - - TKY20R

132R/L5J - BC5 - - - — TKY20R

Q025



Q026

cH

0jo

H xxr
=]

|
o | = XX C S iz(Hzal El
= T =3 O e \ e ©
M3 2ald}
VA @ & \‘@
@\ S ‘
. | L) B E S S E
ANE | AIE mmm | Sum  |NCE23E0E|  Ama | 2am gar | dA =310
A25RMWLNR/L08 _ _ CCK13 | CPT24 MES2 | SLCS105 :gigg HGM-PT1/4
A32SMWLNR/LO8  |WPSWC43| CCP44 | CCK13 | CPT24 | MES2 | SLCS105 :gigg HGM-PT3/8
A40TMWLNR/LO8  |WPSWC43| CCP44 | CCK13 | CPT24 MES2 | SLCS105 :gigs HGM-PT3/8
P 22}
. © (
@ '»'K\\ f \‘@
FRE 74 \/ @ & /,//g.‘ &‘&‘\g
AE AE T Sz 2 sz LA 2% =30
A50UPSKNR/L19 LLSSP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
A40TPCLNR/L16 LLSCN53 LLP15 LLCL25 LLCS508 HKY30R HGM-PT3/8
A50UPCLNR/L19 LLSCP63 LLP16 LLCL16 LLCS310 HKY40R HGM-PT3/8
S¥ HaldH(EZd A3)
&
FHE 72 &
S8z LA %]
'SSKCRIL09 Ts4 TKY15F
'SDUCRI/L15 TS5 TKY25F
'SVUCRI/L11 TS25 TKYO8F
'SVUCRI/L16 Ts4 TKY15F
'SCLCR/L12 TS5 TKY25F
'SCZCRIL06 TS25 TKYOSF
'SCZCRI/L09 TS4 TKY15F
'SCZCRI/L12 TS5 TKY25F
'SDZCR11 TS4 TKY15F
SE Halup(Z A7)
) A
FRE 7 & ,/
Sam LAl %]
SSKCRIL12 TS5 TKY25F
SDQCRI/L15 TS5 TKY25F
TS25 TKYOSF
TS4 TKY15F
TS5 TKY25F
Ts4 TKY15F




S = (510 20})

N
(;SE ?i) \\%\\“& \\\\\ ﬁ 4 ot HAE 2zal
oM THLIAL | FLE DELIA 2l x|

NA1 HFC03008 HY-A1 HKY20R

NV1 HFC03008 HY-V1 HKY20R

NA2 HSC03010 HY2 HIKYZOR

NV2 HSC03010 HY2 HiRYSsR | MEXE #Zo|oz E2Ee chEoz Hojsix gauyc).

NA3 HSC04010 HY3 HKY20R | 2Zn8io] 2R3 2ol 2ol $2|8 Agelol F4A

NV3 HSC04010 HY3 N OR

NA4 HSC05012 HY4 HRYSOR

NV4 HSC05012 HY4 NG OR

sto|2ot(FIEE|X|)FEHEE
B | L
EEEE Sz LI AE AE DHEE ZHE ALY 2l x|

NASP11 - CS250T - — HR12 TKYO8F
NVSP11 - CS250T - - HR12 TKYO8F
NASP21 - CS300890T - - HR12 TKYO8F
NVSP21 - CS300890T - = HR12 TKYO8F
NAPN21 LLCL12S LLCS103 — - HR12 HKY20F
NVPN21 LLCL12S LLCS103 — — HR12 HKY20F
NASP31 - CS300890T - — HR34 TKYO8F
NVSP31 - CS300890T - - HR34 TKYO8F
NAPN31 LLCL12S LLCS103 - - HR34 HKY20F
NVPN31 LLCL12S LLCS103 — = HR34 HKY20F
NAPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F
NVPN41 LLCL13 LLCS106 LLSTN32 LLP13 HR34 HKY25F

[

Qo027



-IJ

AF5000&8 Yal=glo|A
®
FAE 72 7 & oS HuE
Syo ST LA} & LA 2l x| Al x|
AF5000& CWAF5R/L LS10T KS1S TKY25T HKY15R NF10000 (©M072)
BAP300& L2z zlo|A
&
TREZ 7 S e su=
SYD LA 2l x|
BAP300& TS25 TKYO8F APX3000 (©@M096)
BAP400& L2z glo|A
5 _
THE 7 & e suE
S LA} 2lX|
BAP400-040A04R TS43 TKY15F
BAP400-050A05R TS43 TKY15F
BAP400-063A06R TS43 TKY15F
BAP400R0307C TS43 TKY15F APX4000 (©@M102)
BAP400R0408D TS43 TKY15F
BAP400R0509E TS43 TKY15D
BAP400R0610E TS43 TKY15D
BF407& Yal=zalojA
(— @ /4
TREZ 7 T & S e =
Sz SYI LA MELIAL 2l x|
BF407R0812K CWSF407TR2 LS15T CAS51T TKY25T
BF407R1016K CWSF407TR2 LS15T CAS51T TKY25T —
BF407R1218P CWSF407TR2 LS15T CAS51T TKY25T
BN425& Lal=gzlo|A
THE 7A .‘ \ga// S sisl=
ET & S sislE
Syz S#z LA Blx]
BN425& CWS43SNN LS14T TKY25T —
s gal=zalolAa
N ARD f
g S £ ya
FHE 73 & & & S HYE
MEZE MEZE SUD LIAF | SUE LA 2 AF| | MEEE 2 Hlx|
BOER0202B LS21 — CS501290T TKY25T HKY50R
BOE-050A02R LS20 - CS501290T TKY25T HKY50R
BOER2H03B - BOES101 CS501290T TKY25T HKY80R
OCTACUT (@M180
BOE-063A03R BOES101 CS501290T TKY25T HKY80R © )
BOER0304C - — CS501290T TKY25T —
BOER0405D — HSC16035 CS501290T TKY25T —

Q028




BSX400& LE =Zzl0|A

F 4 D
Y
FHE 72 §§ Valvi oS BYE
ECE, 2]
BSX400R05004A TS43 TKY15F
BSX400R06305A T$43 TKY15F
BSX400R08006C TS43 TKY15F ASX400 (OV050)
BSX400R10008D T$43 TKY15F
BSX400R12510E TS43 TKY15D
BSX400R16012E TS43 TKY15D

>

BSX500& LUzlz=alo|

) <

FHE 32 SS7 s sas
Az yA AE T LA} AE x|

BSX500% CSF401260T WCS604010H STBS500N TKY20D ASX400 (OM080)

BXD7000&! 22l=galo|A

= Z .

FHE 72 S Vi oS HuE
ST LA EA

BXD7000& TS5SL TKY25D AXD7000 (OM142)

BzC400d LU2l=glo|A

f & (S
FHE 72 Q@% Va ﬁ g suE
EEED AERE SUT A 8 aX | AEEE 8 A
BZC400-032A03R CS350990T LS24 TKY10F HKY40R
BZC400-040A04R CS350990T - TKY10F - APX4000 (OM102)
BZC400R0408D CS350990T - TKY10F -

E4043 Y2lz=alo|A

5| B [e)
THE 7 © & ©

& & e HHE

MEE  [NZEIHLIA AE NETHUA | S= | SIXDFLUAL | X Elx|
E4048 SSE41R | SPS1 SCD43 STS1 |CWS3R/L| WS1 |TKY10R|TKY25T —

FBP4153 YaZalo|A

© £
FHE 72 @ §% % / oig HuE
AIE SHET | Sum UAl | ASTELAL 58I UN 8 87| A=TEUNSEY
FBP415R0308C
FBP415R0410D
FBP415R0514E
FBP415R0618F STSP415R |CWSP415TR| LS10T | TS32 | TKY25T | TKYOSF |AHX640W (©M054)
FBP415R0822K
FBP415R1028K
FBP415R1234P

Q029



=
.
XX
=

Q030

HE B= fjEx(adalz{H)
[— e — ] o4\ E=Eo
FN548% 22l =zjo|A
FHE 73 % 4 =3 | |2y =S¥z e =
saz EEE 2zl
- 120QSPK x 80| 6.35(]x 4
FN5488 cwss LS14 HKYAO0T | (Gl=miy| A=) | (3SR HE) -
LSE4458 Yalzajo|A
@ | v.*\@ .
FRE 7Y N & S & s HyE
AE  |NE Tg LAl Bd= | @D LAl [SEE UM S d
LSE4458 STBE445NF | CS300890T |CWSE445TR| _LS15T | TKY25T | TKYOSF | ASX445 (©M030)
MG300,4008 L2 =zlo|A
;' 4
S &
FHE 74 & / S BYE
ST LAl 2]
MG300& CS350990T TKY10F -
MG4003 CS451190T TKY20F ASX400 (©M080)
MG345,4458 LA =Z2l0|A
S 5
HE 72 & / g BuE
EFEQI 2%
MG3453 CS350990T TKY10F
MG445% CS451190T TKY20F ASX445 (OM030)
MGP445% L& =zjo|A
3 4 o
FHE 72 & J R
ETERN Al
MGP4458 CS401160T TKY15D ASX445 (©M030)
MSD445&d LUZ =zjo|A
vy )&\@
FHE 77 S & R
EEE: EEERN, %]
MSD445%] CWMSE445R2 LS15T TKY25T ASX445 (©M030)
MSE4458 L =Z2l0|A
” z{\\v\\@
THE 72 S S S Sz
EEE: EEE Bl
MSE4458 CWMSE445R2 LS15T TKY25T ASX445 (©M030)
NR100003 Hal=Zalo|A
= | L L] O
RE 72 \~ & a) | & &\\‘\\ e suE
SUE | S#m A | zEsdE | 28 A4F | AEHLA 2%
NR10000%] CWAF10R2| LS10T__| CWAF1ON | LS15T | CSAF10 | TKY25T —




NSE300& Yal=alo|A
e~ T\ S & £
A (S A
THE 74 W' @, & & / e HuE
MNEE] SYUDT | ST LAl | MEETHLAL 38T A 8 NIHTE 2 81| MEEE
NSE300-050A04R B
NSE300-063A05R CWTSE300TR|  LS19T TKY15T
NSE300R0408D HSC16035
NSE300R0306C
NSE300R0510E SPTSESO0R | oyynse30oR | Ls 10T TS32 | rkyost | TKYO8F ASX400 (OM080)
NSE300R0612F _
NSE300R504S32
NSE300R635532 CWTSE300TR| LS19T TKY15T
HAEEZ3 (Nem) 1 LS10T=8.5, LS19T=5.0, TS32=1.0
NSE400& Lalz=ajo|A
AN NS A
THE 72 “@' @! & & / oS BYE
EL SUIT | SUT LA | MEETHLIAL AT YA § 7| NEETELN & 8K
NSE400R0306C -
NSE400R0407D HSC16035
NSE400R0508E
NSE400R0610F SPTSE400R [CWSE300TR| LS10TS | TS32 | TKY25T | TKYOSF B ASX400 (©M080)
NSE400R503S32
NSE400R634S32
P425 .+ P52538 Lalzalo|A
— 68D
15| | (o) | & D
FHE 72 S J | & & oS BuE
MEE| |MEBIZEUM| AIE  [AE DEUA| ST [wx oEUA|  ax 2l x|
P4258 SSP41R | SPS1 |SCP431R/L| STS1 |[CWS1R/L| WS1 |TKY10R|TKY25T| ASX445 (©M030)
P5253 SSP51R | SPS1 |SCP521R/L| STS1 |CWSTR/L| WS1 |TKY10R|TKY25T| SE515 (©M062)
QBF407& Ya=zlo|A
— @ % R
. 7 | P2 P
THE 74 ] & @ %{\* S Sd=
Sz ST LAl | MELMAL [J0IEE0IE]  EE 2|
QBF407R0304Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBF407R0406Q CWSF407TR1|  LS15T CAS51T QPAR1 | TFC04010 | THY20R -
QBF407R0508Q CWSF407TR2| LS15T CAS51T QPAR1 | TFC04010 | THY29R
QBP4158 Wal=zjlo|A
Q
<> S | 5
IHE 7 N & & e =
AE AlE DELIAL S=T Sam LA 2l X
QBP4158 STSP415R TS32 QWGR1 LS10T TKY25T -
QF10000& Lal=Zzlo|A
z D o O
AISAVEIRSIY Sp S .
THE 74 @ & AR AR oS HYE
Sm (ST LA JNCEYE| BE |ZHSHT|ZH AIR|AEHUAH B
QF10000% CWAF10R3| LS15T | QPCRT | TFC04010| CWAF1ON| LS10T | CSAF10 | Jieyaor -

Q031



— Q /
(e | £ | £ | L Y

THE 72 ] & S & oS HdE
S#z | 2HZ UAl | MELAN |Jl0ISBd0lE|  EE e

QSE4153 CWSF407TR3|  LS15T CAS51T | QPART | TFCo4010 | TRY20R -

[>

SE300¥ L& =zl0|

8 | (o) | (&) | (o] |& a

2 syE
MEE | ooliels, | S#8IT SUES | ofofiE) |SHT LM A
SE3003 SPSE300R | SPSEW300R |CWNSE300TR|CWSE300SN| CWSEW300SN | LS10T |TKY25T —
SE400 Yzl=glo|A
,.l & /\\\\gs
HE 72 ’I ' & S HuE
(ctolaiels) SamT Sazs Sam LA} Bl|
SE4003 SPSE400R | SPSEW400R | CWSE400TN [CWSE400SN {-3?5105(}{0304(;1310” TKY25T -

SE415& L2 =glo|a

7 &)
// %}g\\
THE 74 | S &

DN

‘ S Ss8=E
MEH AE B SYWmS | SUZ LIA 2 x|

SE415R0304C

SE415R0306C HSC12035

SE415R0405D

SE415R0407D SPSE415R | STSE415R |CWSE445TR ||CWSE445SN|  LS15T | TKY25T | HSC16035 | SE515 (©M062)
SE415I$0506E

SE415R0611F

SE4453 Y2z glo|A

vy ©
THE 74 @ % " \\\i\%&\\ S Hs=
& &l
MEH AIE SmT SMms | ST LA Blx| HEZE

SE445R/L03:>C HSC12035

SE445R/L0 D HSC16035

SE445R/L0506E SPSE445R/L | STSE445R/L | CWSE445TR/L| CWSE445SN|  LS15T TKY25T ASX445 (©M030)
SE445R}L1214P -

SE5453 Y2z glo|A

e || (]| &) &

MEE AE SYTT | SYUmS | SYUD LA 2l x| NEEE
SE545R0405D HSC16035
SE545||20506E SPSE545R | STSE545R [CWSE545TR|CWSES45SN|  LS15T | TKY25T ASX445 (DM030)
SE545R1012K

Q032



SHP400& 2l

=Zglo|A

o \ <,
FE 7 |’ & S 4 & e BHUE
BT ST LAl | MEE DTEUA | SET LAL 28Xl MEE TELA £ 85
SHP400E CWSE300TRLL | LS10T TS32 TKY25T TKYOSF | ASX400 (©M080)
VIP400E L =2lo|A
D (5
THE 72 & J oS BuE
ETE 2]
VIP400] CS501160T TKY20F ASX400 (©M080)
VIP445% L@ =zjo|A
o =
FHE 7 4 Vi & g HuE
sz LA 2]
VIP4453] CS501160T TKY20F ASX445 (OM030)

[

Q033



Q034

cH

olo

H I
™=

I
M= Sz (oW
= TRARFHloi ——=
BAEY =g
& &5
THE 72 & / oS BuE
EFEQTN i
BAE500R161516 TS42 TKY15F
BAE500R201520 TS42 TKY15F
BAE500R252525 TS42 TKY15F
APX4000 (©M102
BAE500R323S32 TS4 TKY15F (©M102)
BAE500R403S32 TS4 TKY15F
BAE500R504S32 Ts4 TKY15F
BAE600S] TS52 TKY25F
BAP300& =Y
& &5
FHE 7 & / oS BuE
EFELT i
BAP300& (21C{7{E{ &) TS25 TKYO08F -
BAP400& A=
D £
THE 7 J S HuE
EFELT 2l
BAP400R252525 TS4 TKY15F
BAP400R323S32 TS43 TKY15F
BAP400R404S32 TS43 TKY15F APX4000 (©M102)
BAP400R505S32 TS43 TKY15F
BAP400R636S32 TS43 TKY15F
BAP400& (Hd)dl=d
& 75
THE 72 & / oS HuE
EFERTN 2l
BAP400E (<) TS43 TKY15F APX4000 (OM102)
BAP3500& d=2
& 4
FAE 72 & / e suE
ST LA A
BAP3500R161SA16 TS3 TKY08F
BAP3500R161SN1 TS3 TKYO08F
BAP3500R202SA20" TS32 TKYO08F
BAP3500R202SN20° TS32 TKYO08F
BAP3500R2535A25. TS32 TKY08F APX3000 (OVI096)
BAP3500R253SN25° TS32 TKYO08F
BAP3500R324SA32 TS32 TKYO08F
BAP3500R324SN32° TS32 TKYO08F
BAP3500R4055A32 TS32 TKYO08F
BAP3500R405SN32 TS32 TKYO08F




BOEE dl=d
f
= 34 &% o sz
THE 74 \Q\\\&'f s =
ETEP 2z
BOEH CS501290T TKY25T OCTACUT (©M180)
BREY A=Y
o
A% 72 S =7 S s HuE
EFE suz suzg me Azg x|
BREZ TS55 AMS5 BRS105 ASS3 TKY25R | BRP (©M196)
BSPRY dl=d
A &
FHE 7 & 4 & g HuE
EPEP x|
BSPRE C5451190T TKY20F APX3000 (©M096)
BSX300& =
= 5
THE 72 & 4 oS HuE
EPEP x|
BSX3008] TS32 TKYOSF APX3000 (©M096)
BSX400& dl=w
& &5
FHE 7 4 4 e
EPEP 2%
BSX400] TS43 TKY15F ASX400 (OM080)
BSX500& dl=d
& <y 7
FHE 72 & & 7 / tig suE
SEI LIAL AlE T LA AE x|
BSX500] CSF401260T | WCS604010H STBS500N TKY20D | ASX400 (©M080)
BXD7000& dl=g
&
THE 7 g HyE
ETE x|
BXD7000R251SA25SA/B TS5S TKY25D
BXD7000R321SA32SA/B TS558 TKY25D AXD7000 (©M142)
BXD7000R402SA42SA/B TS5SL TKY25D
BZC4003 dl=d
S
LN
FRE 7 Yt S HYE
x|
BZC400 CS350990T TKY10F APX4000 (OM102)

Q035



tHS

I
i

é
-III
I
=
0lo
bl
2
In
=

Cvd di=d
Hl I 2 \\:& § f Ll S S s
THE 74 @ K e & 1S sdlE
S LIAL Sz SYUZE EE Amel x|
CV10R253S32 TS4 AMS3 BRS103 ASS2 TKY15R
CV12R323S32 TS4 AMS3 BRS103 ASS2 TKY15R BRP (@M196)
CV16R403S32 TS5 AMS5 BRS105 ASS3 TKY25R
Cv20d =Y
&
& ()
THE 74 \\\\\& = s slslE
SHZ LIAL Sz x|
CV20R403S32 LS14T CWCV20 TKY25T —

DCSD, DCSNE Y=Y

HE 7 @ @ @ f ; >l usaws
&
AE DELAL | S™ID AL | AIE DEUAL | SHI LA Bl x| Bl x|
DCSDR2063SN - TS5S - DKS5 HKY40R|TKY25T
DCSDR2063LN — TS5S — DKS5 HKY40R | TKY25T
DCSDR2080SN - TS5S - DKS5 HKY40R | TKY25T
DCSDR2100SN — TS5S — DKS5 HKY40R | TKY25T
DCSNR2063SN JSs7 TS5L JSs7 DKS5 HKY40R | TKY25T
DCSNR2063LN JSs7 TS5L Jss7 DKS5 HKY40R|TKY25T| SPX (©M215)
DCSDR2063SB - TS5S - DKS5 HKY40R|TKY25T
DCSDR2063LN — TS5S — DKS5 HKY40R | TKY25T
DCSNR2063SB JSS7 TS5L JSS7 DKS5 HKY40R | TKY25T
DCSDR2080SA — TS5S — DKS5 HKY40R | TKY25T
DCSNR2080SA JSs7 TS5L JSS7 DKS5 HKY40R | TKY25T
ECMPUI=EY
- 4 @ f o SiaiI
THE 74 \\§~ S SHE
Sz LA allx|
ECMP252S25 TS4 TKY15R
ECMP322S32 TS5 TKY25R -
ECMP402S42 TS5 TKY25R
= FF3000 =L
= Q)
.@ 155
n FHE 74 —/ \\\&?”/ / e SHa=
AE =z B
FF3000& FFSS FFP HKY25L —
FSTES dl=g
FHE 74 Y |/ & oS BuE
MNEE saz ST LA | MEE DELA #lx|
FSTEE TS441R CWFSTE LS10T CPM03008 TKY25T | ASX400 (©M080)

Q036



MG200,300& ¢i=d
&
FHE 72 & g SE
ST LA S
MG200E CS300890T TKY08F -
MG3003 CS350990T TKY10F ASX400 (©M080)
MG245,3458 qi=d
THE 74 $ e Y=
ST LA %]
MG2458 CS300890T TKYO08F
= ASX445 (©M030
MG3453 CS350990T TKY10F (©M030)
MSE445¥ =Y
v ©
= | @ @ o =lEi
THE 74 \\\\\:&t S sslE
Sz ST LA Bl%|
MSE445% CWMSE445R1 LS15T TKY25T ASX445 (©M030)
NSE300& Zaz=zjo|A
HE 72 A ‘I & S HuE
MEE SmT | 2T U
NSE300R504S32
NSE300R635532 SPTSE300R | CWTSE300TR|  LS19T ASX400 (©M080)
NSE400& L2 =zjo|A
o~ ey ©
THE 74 d & S S8lE
MEH SET | BUT LA
NSE400R503S32
NSE400R634532 SPTSE400R| CWSE300TR | LS10TS ASX400 (©M080)
SE300& =
FRE 7 Y ‘I [&] & e suE
MEH S=T ELED ELE Bl %]
SE3008 SPSE300R | CWNSE300TR| CWSE300SN Ls10T TKY25T —
SHP400& =Y
X | o) | £ S
THE 7 M ’ & & S HaE
MEH SHET | SBI UAF MZH 2EUM | SHT UM 8 Al |MEE THUA € A
SHP400E SPSHP400R | CWSE300TR| LS10T | TS32 TKY25T TKYO8F | ASX400 (©M080)

[

Q037



Q038

& /@ (N
FHE 7 A @ ) | / e suE
EEED EEE EEE 2l
SRER100SS16 TS253 - - TKY08F
SRER120SS16 83 - - TKYO8F
SRER140SS16 TS3 - - TKY08F
SRER160SS16 S35 — — TKY10F
SRER180SS20 S35 - - TKY10F
SRER200SS520 SRS5 SRKIR CR4 TKY20F -
SRER200SL20 SRS5 SRKIR CR4 TKY20F
SRER250S525 SRS5 SRK1R CR4 TKY20F
SRER250SL25 SRS5 SRK1R CR4 TKY20F
SRER300SS32 SRS5 SRK1R CR4 TKY20F
SRER300SL32 SRS5 SRK1R CR4 TKY20F
STLGE di=d
FRE 7 & / e HUE
ECEN EA
STLGR22S32 CS300890T TKY08F KSMG (OV252)
STLGR38S32 CS350990T TKY10F
VIPERE dl=Y
(3 4
HE 72 & / oS HYE
ST LA} el
VIPERE CS400990T TKY15D SPX (OM215)
ZRE =g
TS % <
- N
FHE 72 & VA e suE
EEEDN 2l
ZR202C/T TS25 TKYO8F
ZR252C/T CS300890T TKY08F
ZR322C/T CS300990T TKY10F -
ZR402C/T CS451190T TKY20F
ZR502C/T CS451190T TKY20F




|
i = T |3 O\ B bm— B2
FBE2& di=g
[
THE 74 & s H8E
SyT LA AR
FBE2200SM CS300590T TKY08R
FBE2250SM CS350790T TKY10R
FBE2300SM CS400990T TKY15R
FBE2200SF CS300590T TKYO08R SRF (OM228)
FBE2250SF CS350790T TKY10R
FBE2300SF CS400990T TKY15R
TBE1&, TBE2& dl=d
TS 4 CS
=
FHE 72 & S EREE
Sum LA}
Re o|FL R o|=ut
TBE1100SS TS3 TKYO8F _ _ _
TBE1100SM TS3 - TKYO8F - - - -
TBE1100S TS3 - TKYO8F — — —
TBE1150S CS300790TS - _ TKY10R _ _
TBE1200S CS400990T - . TKY15R - -
TBE1250S CS400990T - - TKY15R - -
TBE1300S CS501290T - - TKY25R - -
TBE2150S TS254 - TKYO8F - - -
TBE2150SM TS254 _ — _ _ _
TBE2160S TS254 - - - - -
TBE2160SM TS254 - - - - -
TBE2200S CS350790T - _ TKY10R - -
TBE2200SM CS350790T - — TKY10R - -
TBE2250S CS400990T - - TKY15R - -
TBE2250SM CS400990T - - TKY15R - -
TBE2300S CS501290T - _ TKY25R - -
TBE2300SM CS501290T - - TKY25R - .
TBE1150SU CS300790TS - - TKY10R - - SRM2 (©M236)
TBE1200SU CS400990T - - TKY15R - -
TBE1250SU CS400990T - _ TKY15R - -
TBE1300SU CS501290T - _ TKY25R - -
TBE2150SU TS254 - TKYO8F . . .
TBE2160SU TS254 - TKYO8F - - -
TBE2200SU CS350790T - _ TKY10R - -
TBE2250SU CS400990T - - TKY15R - -
TBE2300SU CS501290T - - TKY25R - -
TBE1200SL CS400990T | TS3 - TKY15R | TKYO8F -
TBE1250SL CS400990T | TS3 - TKY15R | TKYO8F -
TBE1300SL CS501290T | TS4 - TKY25R - TKY15R
TBE2200SL CS350790T | CS350790T . TKY10R - TKY10R
TBE2250SL CS400990T | CS400990T - TKY15R - TKY15R
TBE2300SL CS501290T | CS400990T - TKY25R - TKY15R

Q039



Q040

THE 74 S sdE
ST LIAL
QFEELE HiZLt QFLt
TRM2200SM CS300790TS -
TRM2250SM CS400990T —
TRM2300SM CS501290T —
TRM2200SL CS300790TS TS3 TKY10R TKYO08F
TRM2250SL CS400990T TS3 TKY15R TKYO08F SRM2 (©@M236)
TRM2300SL CS501290T TS4 TKY25R TKY15R
TRM2200SF CS300790TS TS3 TKY10R TKYO08F
TRM2250SF CS400990T TS3 TKY15R TKYO8F
TRM2300SF CS501290T TS4 TKY25R TKY15R
TRM4E di=
& 7S
THE 7% 4 s saz
ST LIAL ]

TRM4400SL CS451190T TKY20R
TRM4500SL CS501290T TKY25T SRM2-40/50
TRM4400SF CS451190T TKY20R (©M244)
TRM4500SF CS501290T TKY25T




ATl =(LHFATASS) ALl=E(ZEHX|HTASS)
THE 7 §§ oS HuE THE 7 §§ oS HuE
Sz LAl 2% Sz LAl 2%

TASS1600S32 TS202 TKY06F TASS1600C20 TS202 TKYO6F

TASS1700S32 TS202 TKY06F TASS1650C20 TS202 TKY0BF

TASS1800S32 TS202 TKY06F TASS1700C20 TS202 TKYO6F

TASS1900S32 TS202 TKY06F TASS1750C20 TS202 TKY0BF

TASS2000S32 TS25 TKY08F TASS1800C20 TS202 TKYO6F

TASS2100S32 TS25 TKY08F TASS1850C20 TS202 TKY0BF

TASS2200S32 TS25 TKY08F TASS1900C20 TS202 TKYO6F

TASS2300S32 TS25 TKY08F TASS1950C20 TS202 TKY0BF

TASS2400S32 TS25 TKY08F TASS2000C20 TS25 TKYO8F

TASS2500532 TS32 TKY08F . TASS2100C25 TS25 TKY08F

TASS2600S32 TS32 TKY08F (TSE;HE; TASS2200C25 TS25 TKYO8F

TASS2700S32 TS32 TKY08F TASS2300C25 TS25 TKY08F

TASS2800S32 TS32 TKY08F TASS2400C25 TS25 TKYO8F

TASS2900S32 TS32 TKY08F TASS2500C25 TS32 TKY08F

TASS3000S32 TS43 TKY15F TASS2600C25 TS32 TKYO8F

TASS3100S32 TS43 TKY15F TASS2700C25 TS32 TKY08F

TASS3200S32 TS43 TKY15F TASS2800C25 TS32 TKYO8F

TASS3300540 TS43 TKY15F TASS2900C25 TS32 TKY08F
TASS3400S40 TS43 TKY15F TASS3000C25 TS43 TKY15F .
TASS3500S40 TS43 TKY15F TASS3100C32 TS43 TKY15F (ngif)

TASS3600S40 TS43 TKY15F TASS3200C32 TS43 TKY15F

TASS3300C32 TS43 TKY15F

TASS3400C32 TS43 TKY15F

TASS3500C32 TS43 TKY15F

TASS3600C32 TS43 TKY15F

TASS3700C32 TS43 TKY15F

TASS3800C32 TS43 TKY15F

TASS3900C32 TS43 TKY15F

TASS4000C32 TS5 TKY25F

TASS4100C32 TS5 TKY25F

TASS4200C40 TS5 TKY25F

TASS4300C40 TS5 TKY25F

TASS4400C40 TS5 TKY25F

TASS4500C40 TS5 TKY25F

TASS4600C40 TS5 TKY25F

TASS4700C40 TS5 TKY25F

TASS4800C40 TS5 TKY25F

TASS4900C40 TS5 TKY25F

TASS5000C40 TS32 TKY08F

Q041



HEF =

_—I.l.x-":ﬂ: — - EHQE = 2l

— e —] O\ —=2

5to|A | C|0{(TAGS) sto|A | C|0{(TAGM)

THE 7 §§ oS HuE THE 7 §§ oS HuE
S LI 2l x| Sm LI 2llx|

TAGS1600F25 TS2 TKYO06F TAGM1600F25 TS2 TKYO06F
TAGS1700F25 TS2 TKYO6F TAGM1700F25 TS2 TKYO6F
TAGS1800F25 TS2 TKYO06F TAGM1800F25 TS2 TKYO06F
TAGS1900F25 TS2 TKYO6F TAGM1900F25 TS2 TKYO6F
TAGS2000F25 TS25 TKYO8F TAGM2000F25 TS25 TKYO8F
TAGS2100F25 TS25 TKYO8F TAGM2100F25 TS25 TKYO8F
TAGS2200F25 TS25 TKYO8F TAGM2200F25 TS25 TKYO8F
TAGS2300F25 TS25 TKYO8F TAGM2300F25 TS25 TKYO8F
TAGS2400F25 TS25 TKYO8F TAGM2400F25 TS25 TKYO8F
TAGS2500F 32 TS3 TKYO8F TAGM2500F32 TS3 TKYO8F
TAGS2600F32 TS3 TKYO8F TAGM2600F32 TS3 TKYO8F
TAGS2700F32 TS3 TKYO8F TAGM2700F32 TS3 TKYO8F
TAGS2800F32 TS3 TKYO8F TAGM2800F32 TS3 TKYO8F
TAGS2900F 32 TS3 TKYO8F TAGM2900F32 TS3 TKYO8F
TAGS3000F40 TS4 TKY15F TAGM3000F40 TS4 TKY15F
TAGS3100F40 TS4 TKY15F TAGM3100F40 TS4 TKY15F
TAGS3200F40 TS4 TKY15F TAGM3200F40 TS4 TKY15F
TAGS3300F40 TS4 TKY15F TAGM3300F40 TS4 TKY15F
TAGS3400F40 TS4 TKY15F TAGM3400F40 TS4 TKY15F
TAGS3500F40 TS4 TKY15F TAGM3500F40 TS4 TKY15F
TAGS3600F40 TS4 TKY15F TAGM3600F40 TS4 TKY15F
TAGS3700F40 TS4 TKY15F TAFEZ TAGM3700F40 TS4 TKY15F TAFEZ
TAGS3800F40 TS4 TKY15F (@P241) TAGM3800F40 TS4 TKY15F (©P241)
TAGS3900F40 TS4 TKY15F TAGM3900F40 TS4 TKY15F
TAGS4000F40 TS5 TKY25F TAGM4000F40 TS5 TKY25F
TAGS4100F40 TS5 TKY25F TAGM4100F40 TS5 TKY25F
TAGS4200F40 TS5 TKY25F TAGM4200F40 TS5 TKY25F
TAGS4300F40 TS5 TKY25F TAGM4300F40 TS5 TKY25F
TAGS4400F40 TS5 TKY25F TAGM4400F40 TS5 TKY25F
TAGS4500F40 TS5 TKY25F TAGM4500F40 TS5 TKY25F
TAGS4600F40 TS5 TKY25F TAGM4600F40 TS5 TKY25F
TAGS4700F40 TS5 TKY25F TAGM4700F40 TS5 TKY25F
TAGS4800F40 TS5 TKY25F TAGM4800F40 TS5 TKY25F
TAGS4900F40 TS5 TKY25F TAGM4900F40 TS5 TKY25F
TAGS5000F40 TS3 TKYO8F TAGM5000F40 TS3 TKYO8F
TAGS5100F40 TS3 TKYO8F TAGM5100F40 TS3 TKYO8SF
TAGS5200F40 TS3 TKYO8F TAGM5200F40 TS3 TKYO8F
TAGS5300F40 TS3 TKYO8F TAGM5300F40 TS3 TKYO8F
TAGS5400F40 TS3 TKYO8F TAGM5400F40 TS3 TKYO8F
TAGS5500F40 TS4 TKY15F TAGM5500F40 TS4 TKY15F
TAGS5600F40 TS4 TKY15F TAGM5600F40 TS4 TKY15F
TAGS5700F40 TS4 TKY15F TAGM5700F40 TS4 TKY15F
TAGS5800F40 TS4 TKY15F TAGM5800F40 TS4 TKY15F
TAGS5900F40 TS4 TKY15F TAGM5900F40 TS4 TKY15F

Q042



TAE 2 (TABE) TAFECQIE EE2I(NPXH)
THE 7 @\\\‘% @ / e suE THE 7 §§ g HuE
g3z Uy Baa | A Sz LAl 2%
TAB1700S32 | TS3 | PT1/4 | TKY08D NPXM2000S25 TS3 TKY08F
TAB1800S32 | TS3 | PT1/4 | TKY08D NPXM2100S25 TS3 TKYOSF
TAB1900S32 | TS3 | PT1/4 | TKY08D NPXM2200S25 T3 TKY08F
TAB2000S32 | TS32 | PT1/4 | TKY08D NPXM2300S25 TS35 TKY10F
TAB2100S32 | TS32 | PT1/4 | TKY08D NPXM2400S32 TS35 TKY10F .
TAB2200S32 | TS32 | PT1/4 | TKY08D NPXM2500S32 TS35 TKY10F T(g"F‘,’zfé’;'
TAB2300S32 | TS32 | PT1/4 | TKY08D NPXM2600S32 TS35 TKY10F
TAB2400S32 | TS32 | PT1/4 | TKY08D NPXM2700S32 Ts4 TKY15F
TAB2500S32 | TS32 | PT1/4 | TKY08D NPXM2800S32 TS4 TKY15F
TAB2600S32 | TS4 | PT1/4 | TKY15D NPXM2900S32 TS4 TKY15F
TAB2700S32 | TS4 | PT1/4 | TKY15D NPXM3000S32 TS4 TKY15F

TAB2800S32 TS4 PT1/4 | TKY15D
TAB2900S32 TS4 PT1/4 | TKY15D
TAB3000S32 TS4 PT1/4 | TKY15D
TAB3100S32 TS4 PT1/4 | TKY15D
TAB3200S32 TS4 PT1/4 | TKY15D
TAB3300S40 TS5 PT1/4 | TKY25D
TAB3400S40 TS5 PT1/4 | TKY25D
TAB3500S40 TS5 PT1/4 | TKY25D
TAB3600S40 TS5 PT1/4 | TKY25D
TAB3700S40 TS5 PT1/4 | TKY25D
TAB3800S40 TS5 PT1/4 | TKY25D
TAB3900S40 TS5 PT1/4 | TKY25D
TAB4000S40 TS5 PT1/4 | TKY25D
TAB4100S40 TS5 PT1/4 | TKY25D
TAB4200S40 TS5 PT1/4 | TKY25D
TAB4300S40 TS5 PT1/4 | TKY25D
TAB4400S40 TS5 PT1/4 | TKY25D
TAB4500S40 TS5 PT1/4 | TKY25D

TAF=EZ
(©P241)

Q043



HesE

THE F5 HHSE(EE)
=)

WSTAR UM E =2(TAWE

THE 7 % % j e HuE

YT Lt | Baol= SRR

TAWSNH1400S16 WS254012T TKYO08W WPT4405 MK1KS

TAWMNH1400S16 WS254012T TKY08W WPT4405 MK1KS

TAWLNH1400S16 WS254012T TKY08W WPT4405 MK1KS

TAWSNH1500520 WS254013T TKY08W WPT4405 MK1KS

TAWMNH1500520 WS254013T TKYO08W WPT4405 MK1KS

TAWLNH1500S20 WS254013T TKYO08W WPT4405 MK1KS

TAWSN1600S20 WS254014T TKYO08W WPT4405 MK1KS

TAWMN1600520 WS254014T TKY08W WPT4405 MK1KS STAW(©P210)

TAWLN1600S20 WS254014T TKY08W WPT4405 MK1KS

TAWSN1700S20 WS254015T TKY08W WPT4405 MK1KS

TAWMN1700S20 WS254015T TKY08W WPT4405 MK1KS

TAWLN1700S20 WS254015T TKYO08W WPT4405 MK1KS

TAWSN1800S20 WS254016T TKYO08W WPT4405 MK1KS

TAWMN1800520 WS254016T TKYO08W WPT4405 MK1KS

TAWLN1800520 WS254016T TKY08W WPT4405 MK1KS

Q044





